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Question Number : 1 Question Id : 9767559216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following letter series :
GJM, LOR, QTW,

Options :
1. ¥ UZB
2. ¥ VYB
3. % UXA
4. * YVB

Question Number : 1 Question Id : 9767559216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad sfer @ d i U I1d o

GIM, LOR, QTW,
Options :
1. = UZB
2. ¥ VYB
3. ®* UXA
4. % YVB

Question Number : 2 Question Id : 9767559217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following series :
LNP, IKM, FHJ, CDG, ZBD

Options :
1. = IKM
2. % FHJ
3. ¥ CDG
4. %= ZBD

Question Number : 2 Question Id : 9767559217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad saan & 7ad ug Id o
LNP, IKM, FHJ, CDG, ZBD

Options :

1. = IKM

2. % FHJ

3. ¥ CDG

4. % ZBD

Question Number : 3 Question Id : 9767559218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Snake : Reptile :: Bear : ?

Options :

1. ¥ Animal
2. ¥ Mammal
3. % Species
4. % Rodent

Question Number : 3 Question Id : 9767559218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. = U]

2. ¢ THYRL

3. % Sfffd

4. % Hdd

Question Number : 4 Question Id : 9767559219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the pair that is related on the same basis to the pair given in the question.
HOU : LKY :: ?

Options :

1. ¥ DNQ:ILX

2. % CNS:EPA

3. % COP: EQY

4. % DPU : HLY



Question Number : 4 Question Id : 9767559219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT TG B S 0 H &1 715 ol W JHH PR F Fafdd 3|
HOU : LKY :: ?

Options :

1. % DNQ:ILX

2. % CNS:EPA

3. % COP: EQY

4.+ DPU : HLY

Question Number : 5 Question Id : 9767559220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 8465 is coded as 62-14-34-23, then what is the code for 9427?
Options :

1. # 81-16-4-49

2. ¥ 79-14-2-47

3. % 88-38-18-68

4. ¥ 80-15-3-48

Question Number : 5 Question Id : 9767559220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 8465 BT 62-14-34-23 & ¥G T ifed foval T B, I 9427 & oW ls 1 82
Options :

1. % 81-16-4-49

2.9 79-14-2-47

3. % 88-38-18-68

4, % 80-15-3-48

Question Number : 6 Question Id : 9767559221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,
687 means nature is beauty
713 means beauty with brains
34 means with love

What is the code for 'brains'?

Options :
1. %3
2.¥ 1
3.% 7
4. % 4

Question Number : 6 Question Id : 9767559221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U (g sig YW A,

687 BT 31 B nature is beauty
713 &7 3 % beauty with brains
34 1 3 § with love

'brains' &1 HIS T %?

Options :

1.* 3

2.9 1

3.% 7

4. % 4

Question Number : 7 Question Id : 9767559222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P $ Q means P is the father of Q; P ! Q means P is the wife Q and P * Q means P is the brother of Q, which of the following shows that A is
mother of D?

Options :



1.¥ A§B!C*D
2.% AIB*CS$D
3. A$SB*C!D
4 ¥ AIBSC*D

Question Number : 7 Question Id : 9767559222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zr%%wm&rtf%n()mfﬁm%’;mQWG{&%P,QﬁuEﬁ%eﬁTP*QWG{ﬁ%P,QWlﬂ%%,ﬁH%F@Hﬁ@ﬁ?WﬁT%%A,Dﬁ
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Options :

1.* A$SB!C*D

2.% AIB*CS$D

3. A$B*C!D

4. ¥ A'BSC*D

Question Number : 8 Question Id : 9767559223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rashi runs faster than Garima, but not as fast as Priti. Aashi runs faster than Sakshi but not as fast as Garima. Who runs the slowest among the
given friends?

Options :
1. # Rashi
2. # Priti
3. % Aashi
4. ¥ Sakshi

Question Number : 8 Question Id : 9767559223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 9 Question Id : 9767559224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Om, Kishore, Faiz, Zareen, Heema and Jaya are sitting in a circle facing the centre. Jaya is opposite Heema, Om and Faiz are not together, Faiz is
to the right of Zareen and Heema is between Om and Faiz. Who is to the right of Kishore?

Options :
1. % Zareen
2. % Om
3. ¥ Jaya

4. % Heema

Question Number : 9 Question Id : 9767559224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3, freR, T, SR, BHT 3R ST g & ITH T Hb U U A 9 g | ST, 89T & ITHA 7, 3NH 3R Tl Teh 1Y a1 €, ol, SR &
3 3R E SR 31, 3 R ol & da H 931 &1 fTPIR F 13 IR P72

Options :

1. % SRH

2. % 3

3.9 Y]

4. % gHI

Question Number : 10 Question Id : 9767559225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to



be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some dancers are singers.
Statement 2 : All singers are actors.

Conclusion I : No actors are dancers.
Conclusion II ;: All dancers are actors.

Options :

1. # Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. ¥ Neither I nor II follows

Question Number : 10 Question Id : 9767559225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # $Had [T5HY [ 3FIERU Hdl §
2. % Had fHY 11 TR0 HdT &
3. % [ 3R 11 ST SFIERUI xd §
4. 1 3R A8 11 STIR0T Rl §

Question Number : 11 Question Id : 9767559226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been given, followed by two assumptions numbered I and II. Analyse the two assumptions together and



determine which of them is/are implicit in the statement.
Statement : 'A fine of Rs 1500 will be levied on the member who will miss the weekly meeting.' A notice put up by a housing society manager.

Assumptions:
I. The members of society miss a lot of meetings.
II. The society is finding new ways to increase the revenue.

Options :

1. # Only assumption I is implicit
2. % Only assumption II is implicit
3. % Neither I nor II is implicit

4. ¥ Both I and II are implicit

Question Number : 11 Question Id : 9767559226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|. % Haq yron 1 g §

2. % Had YR 11 FlRd §

3. % FrRAgnfAlkas

4. ¢ 13RI fAfga®

Question Number : 12 Question Id : 9767559227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong number in the following number series:



9,17,27,33,41,49
Options :

1. % 17

2.9 27

3. % 33

4. % 41

Question Number : 12 Question Id : 9767559227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad ke gaa o TTerd T J1d -
9,17,27,33,41,49

Options :

1. % 17

2.9 27

3.% 33

4. % 41

Question Number : 13 Question Id : 9767559228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (x - 12) > (y - 7) + 4, then which among the following is true?
Options :

1.¥ (x-y)>9

2. % (x-y)>10

3.% x-y)<9

4. % x-y)<10

Question Number : 13 Question Id : 9767559228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e (x- 12)> (y-7) +4 &, A FEffea A ¥ o a1 9 82



Options :

1.¥ (x-y)>9
2. % (x-y)>10
3. % (x-y)<9
4. % (x-y)<10

Question Number : 14 Question Id : 9767559229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between Beds, Cupboards and Furniture?
Options :



3.¢

el

Question Number : 14 Question Id : 9767559229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

@



Question Number : 15 Question Id : 9767559230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nisha walks 150 m east, then turns south and walks 100 m, then turns west and walks 250 m, then turns north and walks 250 m, then turns to her



right and walks 100 m. Where is she now with respect to her starting position?
Options :

1. % 250 m south

2. % 250 m north

3. % 150 m north

4. % 150 m south

Question Number : 15 Question Id : 9767559230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fA=I 150 m g T 3R T 3, R <fermor ot 3R gt 8 3R 100 m T 3, fh uff o1 3R gt 8 3R 250 m Tawt 5, A ST bt
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Options :

1. % 250 m GI&fOT
2. % 250 m 3R
3. ¢ 150 m TR
4. % 150 m GI&fOT

Question Number : 16 Question Id : 9767559231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pratik starts 8 km north, then turns west and rides 6 km, then turns to his right and rides 4 km. Manish rides 4 km west, then turns north and rides
12 km, then turns to his right and rides 9 km. Where is Manish with respect to Pratik now?

Options :

1. # 11 km west
2. % 11 km east
3. % 19 km east
4. #* 19 km west

Question Number : 16 Question Id : 9767559231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ol 8 km FTR DI 3R Y Y= Bl 5, {R U B 3R TSdT & 3R 6 km AR Bl 5, {R 15 3R TSaT & 3R 4 km FaR] HRAT 5 |
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Options :

1. % 11 km Tf%H

2.¢ 11 kmqd

3. % 19kmTQd

4. % 19 km UfYH

Question Number : 17 Question Id : 9767559232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :




Question Number : 17 Question Id : 9767559232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




3.¢

Question Number : 18 Question Id : 9767559233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.
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Options :

1.¢¥

3. %

Lt L




H | m

Question Number : 18 Question Id : 9767559233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 19 Question Id : 9767559234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the correct image of the given figure?



* 4 %k
%
®*
*
Options :
* & &
* *
* %
1. =
o
2. %
*E k&
* *
*
3. %




A

Question Number : 19 Question Id : 9767559234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

i
* *

*




*ir
2. %
* + %+
-
*
3. %
* % *
***
*
4. &

Question Number : 20 Question Id : 9767559235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given answer figures, select the one in which the question figure is hidden/embedded.



Options :

1. ®

2.¢¥




Question Number : 20 Question Id : 9767559235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




3. %
4. %
General Awareness
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Group Id : 976755237
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No



Break time : 0
Group Marks : 20
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Mandatory or Optional : Mandatory
Number of Questions : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 976755637
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9767559236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jawara Dance, also known as the Harvest Dance, is associated with which of the following states?
Options :

1. ®* Tamil Nadu

2. ¥ Madhya Pradesh

3. * West Bengal

4. % (Qdisha

Question Number : 21 Question Id : 9767559236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIaRT o, fo waa T 1 g1 Iran 8, FafaRad | 9 oy I & 91 98T g8 &7




Options :

|, % qfie g

2. ¥ AL YK

3. % UiEgH §d
4. % 3nfeEam

Question Number : 22 Question Id : 9767559237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous song "Kesariya Balam" which is a part of popular Rajasthani folk music is in which of the following styles?
Options :

1. ¥ Maand

2. % Powada

3. % Ovi

4. % Lavani

Question Number : 22 Question Id : 9767559237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIG id "o ST S b o ISR Al iiTd &1 U fewn 5, Fafoiaa & 9 fod Qe # 82
Options :

1. ¥ HIS

2. % TaIgT

3. % 3fidl

4. % GO

Question Number : 23 Question Id : 9767559238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following banks was founded by Dyal Singh Majithia and Lala Lajpat Rai?
Options :



1. ¥ Punjab National Bank
2. # Bank of India

3. % City Union Bank

4. ¥ Oudh Commercial Bank

Question Number : 23 Question Id : 9767559238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 ford I 31 w91 gard Rig Tsifear 3R AT aredd I A &t A
Options :

1. ¢ USE A% §F

2. % % 3 gfear

3. % R g de®

4. % 3qY HARYA &

Question Number : 24 Question Id : 9767559239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, Indian Government will privatize how many public banks in the year 2021-227?
Options :

1. %1

2.2

3.% 3

4. % 4

Question Number : 24 Question Id : 9767559239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ole 2021 H OIV0N & 3ER, HRA IRBR T 2021-22 F fdha Araoi-ds Sobi BT ol 1ehR0T BT
Options :

1. % 1




2.¥2
3. %3
4. % 4

Question Number : 25 Question Id : 9767559240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases occurs due to the lack of Vitamin C in the diet?
Options :

1. ¥ Scurvy

2. # Osteoporosis

3. % Goitre

4. # Diabetes

Question Number : 25 Question Id : 9767559240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed # &1 91 I SeR H f9eifid ¢ ot H1 & SR g 82
Options :

1. ¥ Thdl

2. % SRYYRCT

3. % g

4, % OYOg

Question Number : 26 Question Id : 9767559241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mosses belong to which of the following plant kingdoms?
Options :

1. # Pteridophytes

2. % Angiosperms



3. % Bryophytes

4. ¥ Gymnosperms

Question Number : 26 Question Id : 9767559241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ghar fafoRad & @ fora a-afa-sima @ Hefia g2
Options :

1. % CRSIBIEe

2. % 3{Iqdditeil

3. ¢ SBISCl

4. % 3Tl

Question Number : 27 Question Id : 9767559242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

law 1s a law of physics that states that the force needed to extend or compress a spring by some distance scales linearly with respect
to that distance.

Options :

1. # Charles's
2. ¥ Hooke's
3. ¥ Ohm's
4. ® Kepler's

Question Number : 27 Question Id : 9767559242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % i
2.V ED



3. % 3N
4. ® PR

Question Number : 28 Question Id : 9767559243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Palk Strait connects India with
Options :

1. ¥ Sri Lanka

2. # China

3. # Bangladesh

4. # Pakistan

Question Number : 28 Question Id : 9767559243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U STASHEHE HRA P! I el
Options :

1. ¢ gidipr

2. % I

3. % SCTCH

4. % Ui

Question Number : 29 Question Id : 9767559244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pandoh Dam is built across the river.
Options :

1. % Sutlej

2. ® Ravi

3. ¥ Beas



4. ® Chenab

Question Number : 29 Question Id : 9767559244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USig ary e IR ST TR B
Options :

1. # gdqsl

2. % g

3. ¢ &

4. ® IId

Question Number : 30 Question Id : 9767559245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is not true about Alluvial Soil?

Options :

1. ® The colour of the alluvial soils varies from the light grey to ash grey.

2. ¥ They are generally rich in phosphorous but poor in potash.

3. # Bhangar represents a system of older alluvium, deposited away from the flood plains.

4. ® Khadar is the new alluvium and is deposited by floods annually.

Question Number : 30 Question Id : 9767559245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 31 Question Id : 9767559246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yajna Sri Satakarni was an Indian ruler belonging to which of the following dynasties?
Options :

1. ¥ Satavahana

2. % Pallavas

3. % Chola

4. % QGupta

Question Number : 31 Question Id : 9767559246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7Y 4l Seh Uil T HRANY e o St Faferfed Irraen # 3 fobw @ Feifdrd um
Options :

1. ¥ {lddlg-

2. % Ucrld

3. % 9

4. % 1[d

Question Number : 32 Question Id : 9767559247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first session of Indian National Congress was held at Bombay in
Options :

1. % 1890

2. % 1882

3. % 1889

4. ¥ 1885

Question Number : 32 Question Id : 9767559247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AP DY BT Ugal I did H H Smaiford fbam T
Options :

1. % 1890

2. % 1882

3. % 1889

4. ¥ 1885

Question Number : 33 Question Id : 9767559248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defeated Rana Sanga at the Battle of Khanwa?
Options :

1. ¥ Babur

2. % Humayun

3. % Akbar

4. % Jahangir

Question Number : 33 Question Id : 9767559248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GTaT & g | 0T I BT foua g
Options :

1. ¢ dlsR}

2. % gHY

3. % PR

4, % SENIR

Question Number : 34 Question Id : 9767559249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following books is not written by 'Charles Dickens'?
Options :

1. # David Copperfield

2. % A Tale of Two Cities

3. ¥ The Masters

4. % QOliver Twist

Question Number : 34 Question Id : 9767559249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 oF @ fode ared fedba grR1 =8t forgt 75 87
Options :

1. % Sfde DIRBIE

2. % T 3 ¢ RIS

3. ¥ G HRCH

4. % 3freR fgxe

Question Number : 35 Question Id : 9767559250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Food and Agriculture Organisation (FAO) of the United Nations was founded in
Options :

1. % 1945

2. % 1946

3. % 1942

4. % 1948

Question Number : 35 Question Id : 9767559250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 1945
2. % 1946
3. % 1942
4. % 1948

Question Number : 36 Question Id : 9767559251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the 'Best Director' award in the 65th Filmfare Awards 2020?
Options :

1. ¥ Jagan Shakti

2. # Nitesh Tiwari

3. % Aditya Dhar

4. ¥ Zoya Akhtar

Question Number : 36 Question Id : 9767559251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

659 ThETh IR REDPR 2020 T a9 e BT RDR fa- Sitdm
Options :

1. % S o

2. % fAdwr faart

3. % Ifdd &R

4. ¥ ST 3&R

Question Number : 37 Question Id : 9767559252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Part of the Indian Constitution deals with Amendments of the Constitution.
Options :

1. % XVI



2. % XIV
3. ¥ XX
4. % XXII

Question Number : 37 Question Id : 9767559252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HfaYT BT YR fae & HRNeH 9 Feifda 3
Options :

1. % XVI

2. % XIV

3. ¥ XX

4. % XXII

Question Number : 38 Question Id : 9767559253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following constitutional amendments curtailed the fundamental right to property?
Options :

1. * 26th

2. % 22nd

3. % 24th

4, ¥ 25th

Question Number : 38 Question Id : 9767559253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed & 3 forg ddene d=iem 3 Ui & Aifas iR S wféd #= faan
Options :

1. % 26

2.% 229



3, % 249
4. 259

Question Number : 39 Question Id : 9767559254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 4th CISM Military World Winter Games will be held in in March 2022.
Options :

1. % France

2. # Italy

3. # South Korea

4. ¥ Germany

Question Number : 39 Question Id : 9767559254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At 2022 H 447 c1sM ¥ fay fidereia @ (et ace fder =) A mafSra fasan smem |
Options :

1. % Y

2. % gl

3. % fgor i

4. ST

Question Number : 40 Question Id : 9767559255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Federation Cup is associated with the game of
Options :

1. % Golf

2. % Basketball

3. ¥ Football



4. % Badminton

Question Number : 40 Question Id : 9767559255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEXRH &Y F WA I ISR
Options :
1. % Mt
2. % SRl
3. ¢ Pedid
4. % qgfifed
Arithmetic Ability
Group Number : 3
Group Id : 976755238
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetical and Numerical ability
Section Id : 976755531
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755638
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9767559256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following numbers is a multiple of 3?
Options :

1. ¥ 23145

2. % 3643

3. % 57890

4. % 63781

Question Number : 41 Question Id : 9767559256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o T Te 3 &1 0 82
Options :

1. ¥ 23145

2. % 3643

3. % 57890

4. * 63781

Question Number : 42 Question Id : 9767559257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM and HCF of two numbers are 216 and 18 respectively. If one of the numbers is 72, what is the other number?
Options :

1. % 52



2. % 56
3.¥ 54
4. % 60

Question Number : 42 Question Id : 9767559257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& st & agaH YA SR HeaH THIad HHRT: 216 3R 18 § 1 Ife Teamsfi # ¥ U 72 §, o Gur! e a1 82
Options :

I. # 52

2. % 56

3.9 54

4. % 60

Question Number : 43 Question Id : 9767559258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least minimum number to be added to 32547 so that the number is exactly divisible by 15?
Options :

1.¥3

2.% 4

3.% 2

4. % 1

Question Number : 43 Question Id : 9767559258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH TR 1 g o 32547 T ST ST A1(eT dlfcs I8 WA 15 9 I ok ¥ faursa g
Options :

1.¥3

2.% 4

3.% 2



4. % 1

Question Number : 44 Question Id : 9767559259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers 219 and 149 when divided by x leaves remainder of 3 and 5 respectively. What is the greatest possible value of x?
Options :

1. %8

2. % 36

3. 72

4. % 144

Question Number : 44 Question Id : 9767559259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T/ 219 3R 149 BT o x I UG o SIrar € ' HHE: 3 3R 5 AU Sl & 1 x BT Iy IST JHTAT HIH 1 82
Options :

1. % 8

2. % 36

3. 72

4. % 144

Question Number : 45 Question Id : 9767559260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers A and B are such that A is 40% of B. If their LCM is 60, what is B?
Options :

1. = 20

2.9 30

3. % 12

4. % 18



Question Number : 45 Question Id : 9767559260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =Y A 3R B SU ARG © [, A, B BT 40% g | TS ST TgTH THIGH 60 €, I B FT 82
Options :

1. * 20

2.9 30

3. % 12

4. % 18

Question Number : 46 Question Id : 9767559261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 6 numbers is 60. What will be the new average if the number 40 is to be discarded?
Options :

1. % 40

2. %50

3.¥ 64

4. % 66

Question Number : 46 Question Id : 9767559261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TSI BT ST 60 B | TS TSAT 40 B G 1Al § ol 14T A T GRI?
Options :

1. #® 40

2. % 50

3.¥ 64

4. % 66

Question Number : 47 Question Id : 9767559262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Avinash gives away 30% of his shoes collection to a charity and he still has 140 remaining. What was the original number of shoes that he had?
Options :

1. ® 170

2. % 490

3.4 200

4. % 240

Question Number : 47 Question Id : 9767559262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHTITRT 31T [l & TUT BT 30% TP G TGRIT DI ¢ &l © 3R 3T Ui 37t off 140 A9 &1 ISP I il D1 Gt e 1 o
Options :

1. #= 170

2. % 490

3.4 200

4. = 240

Question Number : 48 Question Id : 9767559263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 100 pupils, 60% are boys of which 1/3 like football and the rest like cricket. The number of girls who like basketball is equal to 25%
of the total boys. What is the difference between the number of boys who like cricket and girls who like basketball?

Options :
1. % 2

2. % 15
3. % 10
4.+ 25

Question Number : 48 Question Id : 9767559263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %2
2. %15
3.% 10
4.4 25

Question Number : 49 Question Id : 9767559264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh suffers a loss of 40% by selling 5 apples at the rate of Rs 15. What was the cost price of each apple?
Options :

1. * Rs4

2.% Rs 5

3. * Rs 6

4. % Rs 40

Question Number : 49 Question Id : 9767559264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 15 FUT B & F 5 U STBR 40% BT JH A ISTd1 ¢ | TS 99 1 AnTd Jed T A2
Options :

1. % 434U

2.9 530U

3. % 62Ul

4. % 40°UU7

Question Number : 50 Question Id : 9767559265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

An amount of Rs 45000 is to be distributed between A and B in the ratio 2 : 3. What is the share of A?
Options :

1. # Rs 12000

2. ¥ Rs 18000

3. ¥ Rs 21000

4. % Rs 15000

Question Number : 50 Question Id : 9767559265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45000 ¥UYT BRI BT 2 : 3% U H A 3R B & &1 fqalRa »1 S R A T R g2
Options :

1. # 12000 %77

2. % 18000 ®>UU

3. % 21000 U

4. % 15000 >4

Question Number : 51 Question Id : 9767559266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C started a business by investing money in the ratio 2 : 1/3 : 4. The profit at the end of the year was Rs 180000. If the time span for
which they invested were in the ratio 2 : 3 : 1, what will be the combined share of A and B?

Options :

1. % Rs 10000
2. % Rs 120000
3. # Rs 12000
4. ¥ Rs 100000

Question Number : 51 Question Id : 9767559266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10000 ¥UY

2. % 120000 ¥UY

3. % 12000 3T

4. ¥ 100000 ¥UY

Question Number : 52 Question Id : 9767559267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car covers a certain distance in 20 minutes at an average speed of 45 kmph. Had the speed been 60 kmph, how long would it have taken to
cover the same distance?

Options :

1. # 8 min
2. % 10 min
3. % 12 min
4. ¥ 15 min

Question Number : 52 Question Id : 9767559267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BN, 45 kmph B 3G T F 20 fie § v fAfdd g8 9a St 81 afe 7R 60 kmph Y, & THF g 70 H3A H fora11 qug T
Options :

1. % gfire

2. % 10 e

3. % 12 e

4.¢ 15 e

Question Number : 53 Question Id : 9767559268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A man in a boat takes 1.5 times, as long to row upstream as to row downstream. If the speed of the current is 1 km/h, what is the speed of the
boat?

Options :

1. * 4 km/h
2. ¥ 5km/h
3. * 6 km/h
4. * 10km/h

Question Number : 53 Question Id : 9767559268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TG DI 1d B ST THY SFVATE O H T 8 SUDT 1.5 AT T8I I 51 THT SHEYATE ST B AT ¢ | G 4RI 1 M 1 km/h
g, a1 1a &1 I T 82

Options :

1. # 4 km/h
2. ¥ 5km/h
3. ® 6 km/h
4. % 10km/h

Question Number : 54 Question Id : 9767559269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The work done by 20 women in 5 days is equivalent to the work done by 10 men in 20 days. What is the ratio of their efficiencies?
Options :

1.¥2:1
2.%1:2
3.%3:2
4. % 2:3

Question Number : 54 Question Id : 9767559269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥2:1
2.%1:2
3.%3:2
4.%2:3

Question Number : 55 Question Id : 9767559270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the volume of the solid cuboid formed from melting and fusing two spheres of radius 14 cm and 7 cm?
Options :

1. # 3000 cu cm

2. % 3080 cucm

3. % 3500 cu cm

4.9 12936 cucm

Question Number : 55 Question Id : 9767559270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

14 cm 3R 7 cmﬁW%ﬂﬁﬁwmmwwquaﬂWW%9
Options :

1. * 3000 cu cm

2. % 3080 cucm

3. % 3500 cucm

4. % 12936 cu cm

Question Number : 56 Question Id : 9767559271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hemispherical bowl of outer radius 10 cm is half filled with water. If the thickness of the bowl is 3 cm, what is the volume of water in the
bowl?



Options :

1. #* 1078 cu cm
2. % 1079/3 cu cm
3.9 1078/3 cucm
4. % 1000/3 cu cm

Question Number : 56 Question Id : 9767559271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 cm & STEX! ST BT TP e HERT U I ST 4RT §3MT ¢ | TG HER Bl HICTS 3 cm 8, O HER B UMT BT A o1 82
Options :

1. ®* 1078 cucm

2. % 1079/3 cu cm

3.4 1078/3 cucm

4. % 1000/3 cu cm

Question Number : 57 Question Id : 9767559272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table below gives the number of the girls and boys enrolled in different sports for the INTER NIT competition.
What is the average difference between the number of girls and boys in each sport?

SPORTS GIRLS BOYS
BADMINTON 4 6
BASKETBALL 13 14

TENNIS 6 2

FOOTBALL 14 16

Options :
1. %1
2.9 0.25
3.% 2

4. %3



Question Number : 57 Question Id : 9767559272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

¥ &) 77 difereT & INTER NIT Ui & fore fafirs @elt § Aifed dsfeal 3R dew! &) T & e 2|
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4 wefear | WS
Fsfies 4 6
gThedrd 13 14
%ﬁﬂ 6 2
Ppcdld 14 16
Options :
1. = 1
2. 025
3. %)
4, % 3

Question Number : 58 Question Id : 9767559273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the number of candidates who appeared, qualified and got selected in an examination.

The average of the qualified candidates over the given years is what percent of the average of appeared candidates over the given years
approximately?

CANDIDATE DATA
YEAR
APPEARED | QUALIFIED | SELECTED
2018 9200 200 20
2019 8400 940 30
2020 10400 a00 25

Options :




1. = 8
2.% 7
3.9
4. % 10

Question Number : 58 Question Id : 9767559273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et I IFHIGARY o1 TReHT S2Mic & S Ueb Uien & JufRyd 4, I (Sgamima) gu 3ik 9afd g
drfereT & fou 7T auf & Iiiof Ieiear] &1 ofid Ty 3T 7Y anf # IufRid g Infiear] &1 fad= ufawra &2

d IHiigar el
SuRm | sEaTE | wgfa
2018 9200 800 20
2019 2400 040 30
2020 10400 Q00 25
Options :
1. %8
2.% 7
3.9
4. % 10

Question Number : 59 Question Id : 9767559274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of plants planted by an NGO over the years is given below.
What is the percentage change in the number of plants planted from 2016 to 2019?
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2016 2017 2018 2019
Year

Options :

1. ® 15% increase
2. % 10% increase
3. # 4% increase
4. ¥ 5% increase

Question Number : 59 Question Id : 9767559274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 15% g
2. % 10% dfg
3. % 4% gfa
4. v 5% G

Question Number : 60 Question Id : 9767559275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph represents the sale of umbrellas during the monsoon.
Which month has seen the highest percentage decline in the sales of umbrellas?
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Sales Of Umbrellas

Options :

1. % JULY

2. ¥ SEPTEMBER
3. % AUGUST

4. % JUNE

Question Number : 60 Question Id : 9767559275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JaTs
2. ¢ RidsR
3. % 3

4. % S

Group Number :
Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General English

4
976755239
0

0

No

No

0

20

No



English Language & Comprehension

Section Id : 976755532
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755639
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9767559276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

I have visited the monstrous trees of the Sequoia National Forest, / standing on the edge of the Grand Canyon / and have jumped on the beds at
Caesar's Palace in Lake Tahoe.

Options :

1. #* Thave visited the monstrous trees of the Sequoia National Forest,
2. ¥ standing on the edge of the Grand Canyon

3. ®* and have jumped on the beds at Caesar's Palace in Lake Tahoe.
4. % No error

Question Number : 61 Question Id : 9767559276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



I have visited the monstrous trees of the Sequoia National Forest, / standing on the edge of the Grand Canyon / and have jumped on the beds at
Caesar's Palace in Lake Tahoe.

Options :

1. # I have visited the monstrous trees of the Sequoia National Forest,
2. ¥ standing on the edge of the Grand Canyon

3. # and have jumped on the beds at Caesar's Palace in Lake Tahoe.
4. % No error

Question Number : 62 Question Id : 9767559277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Looking for apartments was suppose to be a fun and / exciting process; unfortunately, none of the ones that we saw / seemed to match the
specifications that we had established.

Options :

1. ¥ Looking for apartments was suppose to be a fun and

2. % exciting process; unfortunately, none of the ones that we saw
3. # seemed to match the specifications that we had established.
4. ® No error

Question Number : 62 Question Id : 9767559277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Looking for apartments was suppose to be a fun and / exciting process; unfortunately, none of the ones that we saw / seemed to match the
specifications that we had established.

Options :

1. ¥ Looking for apartments was suppose to be a fun and



2. % exciting process; unfortunately, none of the ones that we saw
3. # seemed to match the specifications that we had established.
4. % No error

Question Number : 63 Question Id : 9767559278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The main floor felt like a hotel room, too formal and (sloppy) to be welcoming.
Options :

1. # emotional

2. % impersonal

3. ¥ warm

4. # no correction required

Question Number : 63 Question Id : 9767559278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The main floor felt like a hotel room, too formal and (sloppy) to be welcoming.
Options :

1. # emotional

2. ¥ impersonal

3. % warm

4. # no correction required

Question Number : 64 Question Id : 9767559279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We joined a (coalition) to end exploitation at the hands of the company owners.
Options :

1. ¥ union

2. % culture

3. % streak

4. * no correction required

Question Number : 64 Question Id : 9767559279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We joined a (coalition) to end exploitation at the hands of the company owners.
Options :

1. ¥ union

2. # culture

3. % streak

4. # no correction required

Question Number : 65 Question Id : 9767559280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

A is one of the series of curves that a river bends into as it crosses the land to reach the sea.
Options :

1. % rapid

2. ¥ meander

3. % turmoil

4. # shift



Question Number : 65 Question Id : 9767559280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

A is one of the series of curves that a river bends into as it crosses the land to reach the sea.
Options :

1. #* rapid

2. ¥ meander

3. % turmoil

4. * shift

Question Number : 66 Question Id : 9767559281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

She emphasised the probable hardships and the need for complete unity and non-violence in the face of response from virtually every
village.

Options :
1. #* subjugated
2. % dull
3. % provocative

4. % active

Question Number : 66 Question Id : 9767559281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

She emphasised the probable hardships and the need for complete unity and non-violence in the face of response from virtually every
village.

Options :



1. # subjugated
2. % dull
3. ¥ provocative

4. % active

Question Number : 67 Question Id : 9767559282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Upon entering the door at Karan's Hut,

P: The first room, through the door, is the main part of the restaurant.
Q: two things are immediately noticeable:

R: There is another, seldom used, dining room

S: the place is loaded and seems to consist of a maze of rooms.

off to the right.

Options :

1. ¥ QSPR
2. % PQRS
3. ¥ SQRP
4. % RPQS

Question Number : 67 Question Id : 9767559282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Upon entering the door at Karan's Hut,

P: The first room, through the door, is the main part of the restaurant.
Q: two things were immediately noticeable:

R: There is another, seldom used, dining room

S: the place is loaded and seems to consist of a maze of rooms.

off to the right.



Options :

1. ¥ QSPR
2. % PQRS
3. ¥ SQRP
4. % RPQS

Question Number : 68 Question Id : 9767559283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

When Gandhi

P: Patel was asked by Members of Congress
Q: to lead the satyagraha in Nagpur in 1923
R: was in prison,

S: against a law banning the raising of

the Indian flag.

Options :

1. # PQRS
2. % QSRP
3. ¥ RPQS
4. % RQPS

Question Number : 68 Question Id : 9767559283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

When Gandhi

P: Patel was asked by Members of Congress
Q: to lead the satyagraha in Nagpur in 1923
R: was in prison,



S: against a law banning the raising of
the Indian flag.

Options :

1. # PQRS
2. % QSRP
3. ¥ RPQS
4. % RQPS

Question Number : 69 Question Id : 9767559284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the bracketed word in the sentence given below.

The survey noted that early deaths from (excess) sugar consumption is because of the build up of uric acid.
Options :

1. # supplementary

2. ¥ profusion of

3. % accessory of

4. % remarkable

Question Number : 69 Question Id : 9767559284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the bracketed word in the sentence given below.

The survey noted that early deaths from (excess) sugar consumption is because of the build up of uric acid.
Options :

1. # supplementary

2. ¥ profusion of

3. # accessory of

4. % remarkable

Question Number : 70 Question Id : 9767559285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

ACRIMONIOUS
Options :

1. ¥ WARMHEARTED
2. % ACREBIC

3. ¥ RANCOROUS

4. % POISONOUS

Question Number : 70 Question Id : 9767559285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

ACRIMONIOUS
Options :

1. ¥ WARMHEARTED
2. % ACREBIC

3. ¥ RANCOROUS

4. # POISONOUS

Question Number : 71 Question Id : 9767559286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ BOUQUET

2. ¥ BOUKEY

3. ¥ BUOQUET

4. % BOUQUETTE



Question Number : 71 Question Id : 9767559286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ BOUQUET

2. % BOUKEY

3. ¥ BUOQUET

4. ¥ BOUQUETTE

Question Number : 72 Question Id : 9767559287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Skidzophrenia

2. % Schizophenia

3. ¥ Schizophrenia

4. % Skidzophenia

Question Number : 72 Question Id : 9767559287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Skidzophrenia

2. % Schizophenia

3. ¥ Schizophrenia

4. % Skidzophenia

Question Number : 73 Question Id : 9767559288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"A dime a dozen"

Options :

1. # The value of market has fallen.

2. % Money doesn't have any value anymore.

3. #® An asset of very high value amongst a lot of things of less value.

4. ¥ Very common and of no particular value.

Question Number : 73 Question Id : 9767559288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"A dime a dozen"

Options :

1. # The value of market has fallen.

2. ¥ Money doesn't have any value anymore.

3. # An asset of very high value amongst a lot of things of less value.

4. ¥ Very common and of no particular value.

Question Number : 74 Question Id : 9767559289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"See eye to eye"

Options :

1. # To analyse person correctly

2. % Means to be angry with someone
3. ¥ This means agreeing with someone

4. # To look into someone's eye



Question Number : 74 Question Id : 9767559289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"See eye to eye"

Options :

1. # To analyse person correctly

2. # Means to be angry with someone
3. % This means agreeing with someone

4. # To look into someone's eye

Question Number : 75 Question Id : 9767559290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"Causing so much emotion, especially pleasure, that it cannot be described."
Options :

1. ¥ Ineffable

2. # Inebriation

3. # Indwelling

4. # Rhapsodic

Question Number : 75 Question Id : 9767559290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"Causing so much emotion, especially pleasure, that it cannot be described."
Options :
1. ¥ Ineffable



2. * Inebriation
3. # Indwelling
4. * Rhapsodic

Sub-Section Number : 2
Sub-Section Id : 976755640
Question Shuffling Allowed : Yes

Question Id : 9767559291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The smell of coffee may urge you out of bed in the morning, and the perfume of blooming lilacs in the spring is divine. But you do not see police
officers with their noses to the ground, following the trail of an escaped criminal into the woods. Humans do not use smell the way other
mammals do, and that contributes to our reputation for being lousy sniffers compared with dogs and other animals. But it turns out the human
sense of smell is better than we think.

McGann traces the origins of the idea that humans have a poor sense of smell to a single 19th-century scientist, comparative anatomist Paul
Broca. Broca, known for discovering Broca’s area—the part of the brain responsible for speech production—noted that humans had larger frontal
lobes than those of other animals, and that we possessed language and complex cognitive skills our fellow creatures lacked. Because our brains’
olfactory bulbs were smaller than those of other mammals and we did not display behaviour motivated by smell, Broca extrapolated these brain
areas shrank over evolutionary time as humans relied more on complex thought than on primal senses for survival. He never conducted sensory
studies to confirm his theory, however, but the reputation stuck.

Scientists built on that tenuous foundation over the years, McGann says. Geneticists saw supporting evidence for humans’ limited olfactory
abilities because we have a smaller fraction and number of functioning olfactory genes—but again this was not well tested. The idea that colour
vision took the evolutionary pressure off olfaction was later debunked when no link was found between that evolutionary development and smell
loss. In addition, the size of olfactory bulbs, both in absolute terms and in proportion to the brain, does not relate directly to smelling power as
scientists once thought.

Sub questions

Question Number : 76 Question Id : 9767559292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What have large frontal lobes in humans have resulted in:
Options :



1. ¥ We can see better during daylight than at night.
2. ¥ We possess language and complex cognitive skills.
3. # The lobes were used to shoo away flies by the early man.

4. ¥ We have a more definite foot structure than other mammals.

Question Number : 77 Question Id : 9767559293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Broca's area ?

Options :

1. ¥ Area of the brain associated with seeing

2. % Area of the brain associated with observing
3. # Area of the brain associated with hearing

4. ¥ Area of brain associated with speech

Question Number : 78 Question Id : 9767559294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the latest theory and evidence, the size of olfactory bulbs

Options :

1. ¥ Determines the smelling power.

2. % Does not relate directly to the smelling power.

3. # Depends upon the number of olfactory bulbs present in the human body.

4. % Was reduced by the evolution of colour vision .

Question Number : 79 Question Id : 9767559295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the above passage revolve around?
Options :

1. # The factor of speech in humans.

2. % Human is a complex specie.



3. ¥ The Human Nose Knows More Than We Think.

4. % Sense is what sense senses the most.

Question Number : 80 Question Id : 9767559296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the points (A & B) mentioned below and choose the correct answer from the four options.

A: humans relied more on complex thought than on primal senses for survival.
B: Olfactory bulbs were smaller than those of other mammals.

Options :

1. # A s right and B is wrong

2. # A is wrong and B is right

3. % Both A and B are worng

4. ¥ Both are correct and A is the explanation for B

Question Id : 9767559291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The smell of coffee may urge you out of bed in the morning, and the perfume of blooming lilacs in the spring is divine. But you do not see police
officers with their noses to the ground, following the trail of an escaped criminal into the woods. Humans do not use smell the way other
mammals do, and that contributes to our reputation for being lousy sniffers compared with dogs and other animals. But it turns out the human
sense of smell is better than we think.

McGann traces the origins of the idea that humans have a poor sense of smell to a single 19th-century scientist, comparative anatomist Paul
Broca. Broca, known for discovering Broca’s area—the part of the brain responsible for speech production—noted that humans had larger frontal
lobes than those of other animals, and that we possessed language and complex cognitive skills our fellow creatures lacked. Because our brains’
olfactory bulbs were smaller than those of other mammals and we did not display behaviour motivated by smell, Broca extrapolated these brain
areas shrank over evolutionary time as humans relied more on complex thought than on primal senses for survival. He never conducted sensory
studies to confirm his theory, however, but the reputation stuck.

Scientists built on that tenuous foundation over the years, McGann says. Geneticists saw supporting evidence for humans’ limited olfactory
abilities because we have a smaller fraction and number of functioning olfactory genes—but again this was not well tested. The idea that colour
vision took the evolutionary pressure off olfaction was later debunked when no link was found between that evolutionary development and smell



loss. In addition, the size of olfactory bulbs, both in absolute terms and in proportion to the brain, does not relate directly to smelling power as
scientists once thought.

Sub questions

Question Number : 76 Question Id : 9767559292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What have large frontal lobes in humans have resulted in:
Options :

1. ¥ We can see better during daylight than at night.

2. ¥ We possess language and complex cognitive skills.

3. # The lobes were used to shoo away flies by the early man.

4. ® We have a more definite foot structure than other mammals.

Question Number : 77 Question Id : 9767559293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Broca's area ?

Options :

1. # Area of the brain associated with seeing

2. % Area of the brain associated with observing
3. % Area of the brain associated with hearing

4. ¥ Area of brain associated with speech

Question Number : 78 Question Id : 9767559294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the latest theory and evidence, the size of olfactory bulbs

Options :

1. #® Determines the smelling power.

2. ¥ Does not relate directly to the smelling power.

3. # Depends upon the number of olfactory bulbs present in the human body.

4. ¥ Was reduced by the evolution of colour vision .



Question Number : 79 Question Id : 9767559295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the above passage revolve around?
Options :

1. * The factor of speech in humans.

2. % Human is a complex specie.

3. ¥ The Human Nose Knows More Than We Think.

4. % Sense is what sense senses the most.

Question Number : 80 Question Id : 9767559296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the points (A & B) mentioned below and choose the correct answer from the four options.

A: humans relied more on complex thought than on primal senses for survival.
B: Olfactory bulbs were smaller than those of other mammals.

Options :

1. # A s right and B is wrong

2. # A is wrong and B is right

3. % Both A and B are worng

4. ¥ Both are correct and A is the explanation for B
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Question Number : 81 Question Id : 9767559297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed uy &, IR faswedl § 9, 39 faddhed &1 7 &< ol U I 94 Wt 61 Hol fddbed 3|
Options :

1. % AR

2. ¥ hIch

3. % fqaiof

4. % gferH

Question Number : 81 Question Id : 9767559297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad g A, IR el ° T, 39 faw ey &1 T B o U0 A o9 e, o1 Jg! fabcu gl

Options :



1. % AR
2. & BIeH
3. % faopiof
4. % yfqHr

Question Number : 82 Question Id : 9767559298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufaRed Uy |, IR fddeul 7 9, 39 fdwmed &1 999 33 ol fGT U Ueg T ddH U Bl

Options :
1.« 3ot
2. % Uhd
3. % 3R

4. % AHTH

Question Number : 82 Question Id : 9767559298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ieedl 7 9, 39 f9hcd &1 987 &Y oY 3T 7T Yo BT 8T =T gl

Options :

1. ¢ Sl
2. % Uohd
3. % 3R

4. % AHTH

Question Number : 83 Question Id : 9767559299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy §, IR fawddl | 9, 39 f[ddhed &1 g &3 SN T 71T Yo &1 drgd U 8l




HIHA
Options :
1. % 37
2.9 Ul
3. % 3UA
4, % 3DpY

Question Number : 83 Question Id : 9767559299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR foecdl 7 9, 39 fdh ey &1 987 B3 o) 3T U Xec BT drgd TU TN
3T

Options :

1. # 3
2.9 Ul
3. % 3UA
4, % 3DpY

Question Number : 84 Question Id : 9767559300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifad uy ©, IR fawcdl 8 9, 39 faded &1 997 Y S <RI eg 1 Igt [adbed gl
Options :

1. *

2. % UMM

3. ¢ ferefae

4. % qclldd

Question Number : 84 Question Id : 9767559300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafeiad Uy & IR fabedl & T, 39 f9hed &1 999 B S SIS Weg BT I fdb ey Bl
Options :

1. % gg

2. % OHM

3. ferafid

4. % gATd

Question Number : 85 Question Id : 9767559301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , aR fowedl § 9, 39 fawey &1 999 &3 o Yg Vs &1 Ta! [dbved 7
Options :

1. ® gfducd

2. ® TRdIYeA

3. % gdiucd

4. ¢ ofqued

Question Number : 85 Question Id : 9767559301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy §, TR Aol # 9, 39 by &1 99 &3 o g Vg &1 gt f[Area B
Options :

1. % gfducd

2. % TRdYed

3. % gdiucd

4. ¢ fqucd

Question Number : 86 Question Id : 9767559302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad vy & IR fowedl & T, 39 fahey &1 Tua o3 Ot foT U Wsg & TR wreg 1 fasheu 78t 21



1Y -
Options :

1. % 30y
2. % DIg
3.9 PRI
4. % gfqard

Question Number : 86 Question Id : 9767559302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaﬁfr@?rusrﬁ,mﬁwﬁﬁﬁ,wﬁwmwﬁﬁ%&mw%wzﬁwmﬁwﬁ%
e -

Options :
1. % 3@y
2. % DIg
3.9 PRI
4. % yfcerd

Question Number : 87 Question Id : 9767559303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mﬂﬁ,wﬁwﬁﬁﬁ,ww fqhed BT 9 B Sl fa¥ U Xea-JH & 31 &1 98! fadwed gl
g

Options :

1. % gTg 3R g
2. ¢ fag 3R TR
3. % Y IR qH
4. % &H 3R B

Question Number : 87 Question Id : 9767559303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
m%rﬁ,mﬁwq‘fﬁ@r,ww el BT T B Sl faU U Xsa-JH & 31 &1 gl fadwed 3l
g

Options :

1. % TIg 3R g
2. ¢ fagH 3R TR
3. % 1Y 3R UH
4. % IFH AR ATH

Question Number : 88 Question Id : 9767559304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁgﬁ@;&%ﬁ,wﬁﬂﬁﬁ,wﬁﬁwwwﬁ@amﬂﬁ%ﬁwwwwﬁwal
Iy

Options :
1. % QoY
2. % RIIHA
3. % OIRd
4. « YIUlal

Question Number : 88 Question Id : 9767559304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR Al A 9, 39 I8! fawed &1 I B3 Sl ITaiRN o ol U Weg, &1 f[ddhed gl |
70T ¢ ara!

Options :
1. % Qoo
2. ® W%
3. % UIRd
4.« YIUlal




Question Number : 89 Question Id : 9767559305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad Uy &, 9R fawedl ° 4, 39 fased &1 99 &< STl QU T4 916 o H1d &1 el fadbed ol |
G ST ST 8T |

Options :

IR A CAINCACREIEEAN

2. % gdod UG

Hd bl

3. % dfewy gaaESTa

4. % T YDA

Question Number : 89 Question Id : 9767559305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed gy d, IR fawedl § 9, 39 fdwed &1 997 &1 Sl QU U 9190 & &1d &1 ol [dhed gl
Q1 ST o T ]

Options :

1. ¢ dIhITeId aauHeTd

2. % ggRd T

Hd bl

3. % i gddMGIa

4. % 3T YDA

Question Number : 90 Question Id : 9767559306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § 9, 39 fadmed &1 9 &1 off fU T8 a1 & o 3 & N &1 gas o1 fawed g |
¥ UG PR B 6

Options :

1. ¢ s

2. % Hegrd



3. % gpard
4. % faemdf

Question Number : 90 Question Id : 9767559306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 faswey &1 999 &3 Sl foU TU areg & fore gy & Y &1 9ad o1 fased ]
= UGS PRI g |

Options :

1. ¢ s

2. % Hagrd

3. % Hopard

4. % fqury

Question Number : 91 Question Id : 9767559307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fadwed § 9, 39 fadhed &1 98 ®< off [T T a1 & T uef & W &1 9oy 351 fddhed 5|
3§ TR F94 T B!

Options :

1. % gqudiyd

2. % (AgdrIds

3. % gUidEae

4. ¢ RYIdH

Question Number : 91 Question Id : 9767559307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafad vy 8, IR foeddl 7 9, 39 dhey &1 987 &3 o 3T T8 a1e & forw uel & A &1 99y 3151 fadheu g |
3T TR 94 T &!

Options :



1. % gradiys®
2. % AgdEd®
3. % gUidEae
4. ¢ IRHAdH

Question Number : 92 Question Id : 9767559308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fawed! & O, 39 fdeed &1 99+ o Sl fav10 g god a1 &1 Jal fadhed gl
Options :

1. % {5 15 381 o g ST Hisal 3 et

2. % {5 5 39T 1 81 ST HIgdl 3 5]

3. ¢ T3 13521 ST T BRI GiFI HIZal = el |

4. % 3 & 391 a1 8RT S WISl A e |

Question Number : 92 Question Id : 9767559308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad vy 9, IR fosddl T 9, 39 fdeded &1 9g- 3 ol faR19 fag gad a1 &1 Fel fdbed |
Options :

1. % {35 &5 ST o1 g1 gl Wil A Fel

2. # {5 35 39T 1 G ST HISal 3 ]

3. ¢ 5.1 151 39T o1 SN QFT Wil A &gl |

4. % 15 {5 SO 1 I QT YTl A &gl |

Question Number : 93 Question Id : 9767559309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, aR fowedl & 9, 39 faswey &1 999 &3 Sl foU T8 geTa &1 uet 31 ara faswed |
gaTs fohdl ST -

Options :




1. % BRAM -

2. ¢ Y HogAT HAT

3. % HU AT H S HTH BT
4. % AR YS!

Question Number : 93 Question Id : 9767559309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad vy o, TR fawent § 9, 39 fawey &1 7o &3 S fou 78 geTar &1 Iet 31 aran fawea § |
gaTs fohdl ST -

Options :

[. % gRUME AT

2. ¢ Uit HegAT HRAT

3. % ©HH AT H AP BT HIAT

4, % SRR TS

Question Number : 94 Question Id : 9767559310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl # 9, 39 fawed &1 7o &L S fou 78 eTer &1 Jet o1 aran fawe 71
fedl o feidt et -

Options :

1. ¢ Y BT T HAT AT QY [T

2. ® YRT ST

3. % YA

4. ® A HAT

Question Number : 94 Question Id : 9767559310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed oy & aR fawedl § 9, 39 fadmed &1 7a &3 off fU 7T gTer &1 Tgt o aran fawey g




fegdl @ feict e -

Options :

1. ¢ T &1 dh BT A1 qIY 1A
2. ® GRS

3. % QYT AT

4. % A HRAT

Question Number : 95 Question Id : 9767559311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed uy &, aR fowedl § T, 39 fAewey &1 999 o3 §l <t 718 Aoifad &1 et 3 aren faweu 3|
Options :

1. % ST HTH HRA]

2. ¢ B3t B el B A ITDT $© a1 farrgar

3. % 3Ad IS B

4. % 3O Ghordl WR G

Question Number : 95 Question Id : 9767559311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofied Uy &, 9R fawed! § 9, 39 fadhed &1 98- $ Sl 41 715 Aloliad o1 o o aral fddbed g
Options :

1. % qEICE! B H=Al

2. ¢ [l D1 TG B A IUBT $o el A

3. % 3[d I3 B

4. % 3O heIdl WR g

Sub-Section Number : 2

Sub-Section Id : 976755642

Question Shuffling Allowed : Yes




Question Id : 9767559312 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

it 3T T iR & 916 5 Uy AU TR § 1 9 TRI ) eydeh ug SR IR fdsed! § ¥ Ude Uy Bl HdiaH STk g | .

T 3TTe! fordl! HEedqu! URIET &1 daRI B Hio-Ts 8l el 82 T THI H & THT B HH! Heq 8 6! 82 AR 3MUHT oa1d Bl g df
3T THY Y= WA B1 STeRd | THT Ya=A fodt off wdten & O &1 9o Heayu! ugd 8| sgd ¥ udtenif 9 € s udtensii o1
TR &R ¥ Y B &, O 38 JHATHIE Tad 99 U D1 ke 48 AT 8] IRad H GHY &1 T1fd &1 a1 3qb UG B ol Tai fobal
S e, a4ife 7 o 39 ¢ foram S Tavdr § 3R 7 &) AehT S Tehall 3| 31U W P BsT B gU Rt 3THT ! SUTN R v o) THT
M & o ol faRivg &1 fowd &1 off Il § TR o AT THIT 3 Y, THY0T 3R Ty s &1 8| THg Ua=H

3T SMTATIYT P TG 3R T8 hadT B1 (=M H Huriges ghm,

Sub questions

Question Number : 96 Question Id : 9767559313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foralt off TRt & JORY H1 Y Hedqul U e R 82
Options :

1. % faq9a ugn

2. % 3(UAT &HT BT A

3. % fqugl &1 JH

4, ¥ JHY Yd=

Question Number : 97 Question Id : 9767559314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y o1 T Q Ifdd - Sra 9a g 2
Options :

1. # 3 WY & AR Jenferd foar o eodT 8
2. % Ig GHAR IR gl 9adl §

3. T Y ¢ 3 S Yapa § TR A & A
4. % Y N 915 96 ol §



Question Number : 98 Question Id : 9767559315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHY Yd¥-q Dl éllil’wwuuﬁm%‘z
Options :

1. % QN &l HHSAT TR GHTd

2. ¢ TARYN IR B adl H Fg il
3. % gyt 39 g T8 urd

4. % GNT 3Tl ld ST 8 §

Question Number : 99 Question Id : 9767559316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
370 A B - T HiSATS BT GAIard! ol g2
Options :

1.« gITHA

2. % faaepd

3. % e

4, % dIYT

Question Number : 100 Question Id : 9767559317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B g IUYad Y-
Options :

1. % GG Bl DTS

2. ¢ gAY Uy

3. % JHY FeIh! UM

4. % G &HAT

Question Id : 9767559312 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (96 to 100)

il U T iR & 916 5 Uy AU TR § | 9 TRI ) eyd Ug SR IR fdded! § 9 TS Uy T gdiad STk g | .

T 3! foralt Agaqul Usten &1 it § Hi3TS 81 76! 82 1 T I’ B YUy &1 1 Hegd 81 Xe! 82 3R 311! Sfard gf g al
3T THT Ya~A WA &1 SRevd & THY Ya=H foadt off tlien o1 dart &1 qad Aol Ued o) 9gd & Tiemdf U 8 S udienaif o
TR} &R W Y B &, O I8 JHATHIE T 99 U D1 aRe 3T A1 8] IRad § Gy &1 T1fd &1 a1 3Hb TGHTG B ol e foba
ST bl a9 o 39 €T foma o wah § SiR 7 81 AT o Tehdl g 31T W8 B 7ol dRd gU Rt 3UHT el SUURT R Tahd g THd
M & o forsh faRivg &1 fow &1 off Il § TR o AT THIG 3 Y, THd0T 3R Ty s &1 8| 90T Ua=H
3P ATATIYTT P TSI 3R T8 haar &) fe=n & furiges g

Sub questions

Question Number : 96 Question Id : 9767559313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraft ot Tt o1 O BT Y9 Heayul ued 1 82
Options :

1. % fe9d ugn

2. % J(UT & BT JH

3. % fawdl &1 I

4. ¢ A Yd=A

Question Number : 97 Question Id : 9767559314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y P Tfd I Fd HIH-T Id A § 2
Options :

1. % Y WI & SFUR Taferd far S gl 8
2. % U AR 3FIIR € Il

3. ¢ T 3 ST i S gehar § 3R A &1 et
4. % YT TG 9 Il §

Question Number : 98 Question Id : 9767559315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AT Y= BT A TR T UHT TSl 82
Options :

1. % G &l HHSAT TR YT

2. ¢ JTAIYTT 3R Jhadl & FGIRI

3. % gl 38 gH T8l UTd

4. % AN A BIA ST &

Question Number : 99 Question Id : 9767559316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$TH Y B - I DG 1 qagard Tg1 62
Options :

1.« JIHAT

2. % fagpd

3. % Joe

4. % 91T

Question Number : 100 Question Id : 9767559317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 RGPl Dlg IUGad Loe-
Options :

c

1. % Y P B3
2. Y YdYd

3. % JUY gD U
4. % ! &yl
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Group Id : 976755241



Group Maximum Duration : 0

Group Minimum Duration : 0
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Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 976755534

Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 976755643

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9767559318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
in a PBX system is the mapping of channel on one interface to another channel on another interface.
Options :
1. # Extension termination
2. % Trunk termination
3. ¥ Switching

4. # Circuit processing



Question Number : 101 Question Id : 9767559318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

pBX Rren o , U® 3B & U 990 A GOR Sy & gER I-d BT AT g g
Options :

1. % THCH GEERE (Extension termination)

2. 8 Th [GEERE] (Trunk termination)

3. ¢ AT (Switching)

4. % gidhe Ui (Circuit processing)

Question Number : 102 Question Id : 9767559319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A PBX system does NOT allow users to connect into a single telecommunication system.
Options :

1. #® voice

2. % data

3. % pagers

4. ¥ other non-conceivable application

Question Number : 102 Question Id : 9767559319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PBX ReH H SUaNTaisii &1 Thd grudR yomen o Hae H B 3 Tl sl g
Options :

1. % 9igq (voice)

2. % ST (data)

3. % Oord (pagers)

4. ¢ 3 IR [MINERNE] (non-conceivable application)

Question Number : 103 Question Id : 9767559320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A PABX system is normally controlled by a/an  located in the main telephone closet.
Options :

1. % Modem

2. % Modulator

3. % dedicated computer

4. % remote sensor

Question Number : 103 Question Id : 9767559320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PABX R, ITHMId: G- oA 1§ (Fifere) # Ryd FARNERIEREIGIR|
Options :

1. % AieH (Modem)

2. % ﬂ'\f@fﬁla (Modulator)

3. wﬁam (dedicated computer)

4. % T3 YW (remote sensor)

Question Number : 104 Question Id : 9767559321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
do not rely on central office telephone lines for their connection to the telephone company.
Options :
1. ¥ Voice over IP systems
2. % Public address systems
3. ¥ Fire alarm systems

4. # Vending access management systems

Question Number : 104 Question Id : 9767559321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



37 PHGRA & (O Bl Hrafad i CTthIF T8l WR S el ST 7|
Options :

1. ¢ drsq 3R 1P RI%eH (Voice over IP systems)

2. % Ui Qg? T (Public address systems)

3. ® HRR AW RRERT (Fire alarm systems)

-\

4, % 3fST QORTI{-I aeHe Rery (Vending access management systems)

Question Number : 105 Question Id : 9767559322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The security designer can use the as a security intercom system by utilising the door stations in lieu of a standard station set.
Options :

1. ¥ PBX system

2. ¥ PABX system

3. % communication system

4. ® transmission system

Question Number : 105 Question Id : 9767559322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R&MT TESER (security designer), HTH® TR U o R TR SR WX &1 ST HIDb DT IUTNT IRET SRBIH YOSt &b
U H B bl g
Options :

1. % PBX Rieq
2. ¢ PABX Req

3. % HRIADHIA RRCH (communication system)
4. ® EA'IHI?-IQI:I Ry (transmission system)

Question Number : 106 Question Id : 9767559323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct function of a PABX system?

Options :

1. ¥ It facilitates the connection of a number of analog or digital station sets to a central switch.
2. # It interfaces with the PBX system.

3. # It interfaces the discreet signal.

4. ® Tt facilitates the connection of a number of a network station sets to a central switch.

Question Number : 106 Question Id : 9767559323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & ¥ &1 91 PABX RieH &1 981 o 82

Options :

1. ¥ g Ycd RIa dF B AT A1 [SHofed TIM A & H-a-H &I GiH §-1d1 6|
2. % g PBX RIeH & AU $ehd R ¢ |

3. % gg feopic fRUd (discreet signal)a’ffmm%l

4. % gg Yod 99 d% Ps Acad LI U & HaRH &) JH S 5|

Question Number : 107 Question Id : 9767559324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement.

Options :

1. #® The received signal is observed by use of the PABX system.

2. % The operation of input signal is controlled by the PABX system.

3. # A loop-start signaling is the preferred signaling system when lines terminate in a switching system such as PBX system.

4. ¥ The PABX immediately detects the grounded tip conductor and will not allow an outgoing call from PABX to use this circuit, thus avoiding
glare.

Question Number : 107 Question Id : 9767559324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tt HUT BT I B
Options :

1. % U7 R (received signal), PABX fRed & IuaiT gR1 Ufdrd giar g |
2. % PABX RIed gRT §7qe Rua &1 Tt Ffd gl |
3. % qU-Xeré Ryfen siftmra RufeiT Riew gia1 8, Sa @g+ pBxX Ried oY Rafin Rrew & Hiffa gt 81

4. ¥ PABX, ¥d U3 SS fou heaer ol feae ordl § 3R 39 Ufthe &1 SUUNT 3 & foTT PABX ¥ SIS Hid dI SIFHR el ol
8, 39 PR TR (glare) BT AT B |

Question Number : 108 Question Id : 9767559325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct with respect to PABX?

Options :

1. ¥ The PABX is simply an automated version of the older, manually operated switchboard — the PBX.
2. % It helps in the interaction of one channel to another channel.

3. # A private exchange located at a global location is called PABX.

4. ® The PABX connects to the non-actual telephone office via a number of trunks.

Question Number : 108 Question Id : 9767559325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ &1 91 HYT PABX & TgH H Tl 82

Options :

1. ¥ PABX, RIM, A3 &Y ¥ FaTferd fGaals - PBX &1 Waleld T g |

2. % Ug TP I Y gOR I &b Sea¥M (interaction) H AGE HRAT g |

3. % A AepIE H RUT Ao TRES 1 PABX 8T SITdT g |

4. % PABX, ®5 I (trunks) & ATEOH ¥ SARAAH oI HRATTT ¥ Hde gidl g

Question Number : 109 Question Id : 9767559326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following services is INCORRECT about a PBX system?
Options :

1. # PC PBXs

2. % ATM PBXs

3. % IP-based PBXs

4. ¥ Satellite based PBXs

Question Number : 109 Question Id : 9767559326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 9 &H 0 Ya1 PBX Rited & IR § 770d 82
Options :

1. % PC PBXs

2. % ATM PBXs

3. % Ip-3TYTRA PBXs

4. ¢ JCATST MYTRT PBXs

Question Number : 110 Question Id : 9767559327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EPABX is an on-premises telephone exchange that supports:
Options :

1. # digital data service only

2. # analog telephone service only

3. % primary data service only

4. ¥ digital data and analog telephone services

Question Number : 110 Question Id : 9767559327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EPABX, 3f1-0fR Tt TRl g, St ! YU PR 5

Options :




1. % %ad fefored Serafda

2. % Hgd TATANT S Ifdq

3. % PHad WYHE Se1 Ifdy

4. ¢ fefoTed SeT 3R T o= Ifdg

Question Number : 111 Question Id : 9767559328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sending text only data by is expensive.
Options :

1. #® social media

2. ® telecommunication

3. # e-mail

4. ¥ fax

Question Number : 111 Question Id : 9767559328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GRT TR 3ATe e (text only data) VST AT BT 81
Options :
1. % T HIfSAT (social media)
2. % GXUAR (telecommunication)
3. % 3. (e-mail)
4. ¢ B

Question Number : 112 Question Id : 9767559329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements with respect to fax is correct?
Options :

1. # Fax is genuinely the most economic means of communication.



2. # Fax is capable of transmitting physical data.
3. # A fax machine is only a coding machine, which is also called a decoder.

4. ¥ In comparison to emails, the Fax is better means of transferring legal documents.

Question Number : 112 Question Id : 9767559329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B & G 7 g H T S 91 HYT I8 72

Options :

1. % %oy, IRaa § YR HT Iy e e B

2. % Thag, Hifde SeT (physical data)Wﬁﬁmﬁﬂ&maﬁT%I

3. % Ty ARfF, Had HIfST A gt 8, P fepier H a1 ST 81

4.« ST B AT H, B BT GxdTdol ! RIFIARA (transferring) TR &1 S8R AU g |

Question Number : 113 Question Id : 9767559330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As part of one of the security and error recovery features, a/an is inserted between the telephone lines and the fax machines.
Options :

1. #® coding system

2. #® decoding system

3. ¥ encryption device

4. ® symmetrical device

Question Number : 113 Question Id : 9767559330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR& 3R I R GRAersit 1 T HIT BT &, S el ezt 3R g A=t & offw ufay (&ud fbar gam) eiar 8|

Options :
1. % PIFST RRCH (coding system)
2. % fSPHITST RIEH (decoding system)



3. ¢ Uh W fSar8d (encryption device)

4. % mﬁwm (symmetrical device)

Question Number : 114 Question Id : 9767559331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The documents transmitted through fax machines are in a standard fax image format.
Options :

1. # internally decoded

2. ¢ internally encoded

3. # externally decoded

4. ® externally encoded

Question Number : 114 Question Id : 9767559331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a?_dﬂ A= & Aren 9 Uftd Eﬁ'laﬁ HIAH aﬂﬂ B URey (standard fax image format) H Eﬂ?f % |

Options :

1. % 3ffaRke® ¥ ¥ fempifsd
2. ¢ NG U Y Thifsd
3. % gREIEU Y fe@ifsa
4. % I ¥ U Y THITSd

Question Number : 115 Question Id : 9767559332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is/are designed to provide communication between one mobile unit and one stationary unit.
Options :
1. ® Cellular stations
2. ® Cellular frames
3. ¥ Cellular telephony



4. % Cellular signals

Question Number : 115 Question Id : 9767559332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. TH AIEISd 3PS 3R Th W 3BT & s IR USH B4 P ot fEue- e o g1
Options :

1. % @W WM (Cellular stations)

2. % IR HHT (Cellular frames)

3. ¢ YR TAUIBIHT (Cellular telephony)
4. % YR RIUA (Cellular signals)

Question Number : 116 Question Id : 9767559333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ubiquitous telephone networks throughout the world are the prime examples of a public telecommunication network. These are also known
as:

Options :

1. # phase shifting transmission network
2. % public shifting telecomm network
3. ¥ public switched telephone network

4. ® pulse code modulation technique

Question Number : 116 Question Id : 9767559333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g} eehite Seadh, gfRar 1R § FrdeiRe RETR Aedd & THE I3ERU 2| 33 ' HeT oA g
Options :

1. % oo fRAfGETT W&F‘Zﬂ Jeddh (phase shifting transmission network)

2. # Ufeasp G Sfarid Aedd (public shifting telecomm network)

3. ¥ Ui figes ¢l Acdd (public switched telephone network)



4. % T DIS H\IS?\J,a{-I"I CHAID (pulse code modulation technique)

Question Number : 117 Question Id : 9767559334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are NOT a part of the transport system of the transmission media?
Options :

1. # Optical fiber

2. % Electrical conductor

3. # Radio paths

4. ¥ Electronic diodes

Question Number : 117 Question Id : 9767559334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ'ﬁ oy ﬁ:[ g1 gmﬁlm:f Hifear & ?:Iﬂ'cn_(f Rreeq (transport system) T HIT '_‘@3[ %?
Options :

1. % 3fff0Hd WIS (Optical fiber)

2. % {dggd dTI® (Electrical conductor)

3. % IS UTY (Radio paths)

4. ﬁ?ﬂﬂ KNI (Electronic diodes)

Question Number : 118 Question Id : 9767559335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the sub-networks of a transport system in a communication network?
Options :

1. % LAN

2. % WAN

3. ¥ DAN

4. ¥ private network



Question Number : 118 Question Id : 9767559335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR degs A g A IS a1 ‘g'mu‘l'c‘ R (transport system) Pl Udh 39--cad Tl %?
Options :

1. % LAN

2. % WAN

3. ¥ DAN

4. % {457 Aead (private network)

Question Number : 119 Question Id : 9767559336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The terms ‘data communication networks’ and ‘computer networks’ are used
Options :

1. # partially.

2. ¥ interchangeably.

3. ® In emphasised manner

4. ® Simultaneously

Question Number : 119 Question Id : 9767559336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8¢ FUR eqd' 3R SR Fedd' UG BT JUANT gI gl
Options :

1. % 3ifRp E®UY

2. ¢ fafTTar & SER

3. % TOE e 9

4, % Up Y



Question Number : 120 Question Id : 9767559337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following terms is NOT based on the connection-oriented communications?
Options :

1. # Connection setup

2. # Data transfer

3. % Connection termination

4. ¥ Network topology

Question Number : 120 Question Id : 9767559337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 9 S 1 Weg HRM-NNICS TR W MTRA T8 57
Options :

1. % PR Y3 (Connection setup)

2. % gal m (Data transfer)

3. % PHaRM AT (Connection termination)

4. ¢ cad erardrei (Network topology)
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Question Number : 121 Question Id : 9767559338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The networked systems are described on the basis of two key structures, namely and
Options :

1. ¥ physical structure, logical structure
2. # crystal structure, chemical structure
3. # logical structure, crystal structure

4. # physical structure, crystal structure

Question Number : 121 Question Id : 9767559338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jead R, 3R A & U IS & YR TR gfofd feu o €1
Options :

1. ¢ s I (physical structure), SISEENESEER] (logical structure)

2. % fohed A=A (crystal structure), S AT (chemical structure)

3. % Qiohd IR (logical structure), fored I (crystal structure)




4. % Wifae TG (physical structure), foed I (crystal structure)

Question Number : 122 Question Id : 9767559339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Continuously varying signals are sampled and quantized into
Options :

1. ¢ discrete symbols for transmission

2. % alternative signals

3. # time varying continuous signals

4. ® frequency varying continuous signals

Question Number : 122 Question Id : 9767559339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o giafed e (Continuously varying signal), # JUd 3R IS 81 6
Options :

1. ¢ TaRT o foru f$wpic Ul (discrete symbols)

2. % Jpfcus Ry (alternative signals)

3. % gAY gRad gad Rd (time varying continuous signals)

4. ® 3‘|’|§ﬁ[ gfadf Tad R (frequency varying continuous signals)

Question Number : 123 Question Id : 9767559340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of ‘X’ represented in the given figure will be



Amplide

Frequency

Options :
1. ® n/4

2. % 7g/2

4. % 1/3

Question Number : 123 Question Id : 9767559340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 11 e § i <X BT A BRI



Amplide

Frequency

Options :
1. % n/4
2. % @2
3.¢n

4. % 7/3

Question Number : 124 Question Id : 9767559341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is one of the DISADVANTAGES of quantization of PCM?
Options :

1. ¥ PCM transmission and reception are also affected by problems in synchronization.
2. % Signal quality can be enhanced easily.

3. % Digital transmission and reception are highly economical.

4. ® Signal manipulation is very easy in the digital regime using software.

Question Number : 124 Question Id : 9767559341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & S I PCM & BB (quantization) P UP g %?

Options :



1. ¥ PCM THIFRM SR RAwF ff Risprgere & gawmsi 3§ guifad gd €|

2. % YU & YOG ST ¢ hell g

3. % ffored TiaftmM ik A= 3= sfeqend Bld B |

4. % IR BT ITANT HRb [STed TG (digital regime) H R U 9gd M ST |

Question Number : 125 Question Id : 9767559342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the modulated wave is picked up by the radio receiver, it is necessary to recover audio signal from it. This process is accomplished in the
radio receiver and is called:

Options :

1. # Sampling

2. ® Quantization

3. ¥ Demodulation
4. % Amplification

Question Number : 125 Question Id : 9767559342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vs Hisgde 31 T8 a3 YA Refiar gr1 wafd gidt &, df 399 3ifea Rpret & grufe &1 siiawae g1 1 I8 Ufshan Yy Refiar A
Ul BIeil § 3R FHEard 3|

Options :

1. % W(Sampling)

2. ® BHICIHUI (Quantization)

3. ¥ faUIga (Demodulation)

4. % e (Amplification)

Question Number : 126 Question Id : 9767559343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct with respect to multiplexing?
Options :



1. ¥ In multiplexing, the transmission of two or more messages happens at the same time over a single interconnecting link.
2. # Multiplexing is the method of transmitting one measurement over a single transmission channel.
3. ® Multiplexing is the process by which a continuous audio signal can be converted into a discreet signal.

4. ® Multiplexing is the process of controlling the input sinusoidal signal.

Question Number : 126 Question Id : 9767559343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁﬁﬁqm$ﬂqmﬁ'[(mulﬁplexing)%Wﬂﬁﬂﬁ%‘?

Options :

1. ¢ AR H, G a1 &1 § S YGRI 1 GaRUT Uehd sG] fofdh IR U A1 Bial 5

2. % QIR Thd HaR0T o-dt TR T HIY HaRd H &1 i 5|

3. % Hec QiR Tt ufeha 7, e gRT gdd TSl Rud &1 f$wpic RITd (discreet signal)ﬁqﬁ_d'ﬁﬁmwwgl
4. % ARG, 39YC a1 R &1 FUfd & &t ufdbar g

Question Number : 127 Question Id : 9767559344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Multiplexing is categorised into:
Options :

1. ¥ TDM, FDM

2. % AM, FM

3. % TDM, MDM

4. % FDM, CDM

Question Number : 127 Question Id : 9767559344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Ao, A Ffipd gl
Options :

1. ¥ TDM, FDM




2. ¥ AM, FM
3. ¥ TDM, MDM
4. ¥ FDM, CDM

Question Number : 128 Question Id : 9767559345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is one of the types of store program control switching system?
Options :

1. #® Circuit switching or network switching

2. ® Frequency switching or amplitude switching

3. ¥ Space switching or time switching

4. ® Series switching or parallel switching

Question Number : 128 Question Id : 9767559345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 & ¥ o9 1 R URH deld [T Red o7 U TR 32

Options :

1. % gRgy fafd (Circuit switching) T Jeaos g (network switching)

2. % 3ﬂ§ﬁ[ gt (Frequency switching) dT 3TATH fagfim (amplitude switching)
3. ¢ WY AR (Space switching) a1 T9Y ffT (time switching)

4. % goft g (Series switching) TT JHTATIAR fegfei (parallel switching)

Question Number : 129 Question Id : 9767559346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The links that run between the switching systems are called:
Options :

1. % transmission track

2. ¥ modem



3. # gateways
4. ¥ trunks

Question Number : 129 Question Id : 9767559346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rtz Riew & ot fofe 1 EISIGI]
Options :

1. # HROT % (transmission track)

2. % AISH (modem)

3. % TIcd (gateways)

4. ¥ & (trunks)

Question Number : 130 Question Id : 9767559347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a type of switch?
Options :

1. # Thermo-optical switch

2. ® Electro-optical switch

3. # Magneto-optical switch

4. ¥ Geo-optical switch

Question Number : 130 Question Id : 9767559347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 &1 1 R &1 UeR T2 22

Options :

1. % YAl Rag (Thermo-optical switch)
2. % W—H\@W %9 (Electro-optical switch)
3. % AIA-3PPd X9 (Magneto-optical switch)



4. ¢ T3P Hd I (Geo-optical switch)

Question Number : 131 Question Id : 9767559348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pick the odd one out.

Options :

1. # Switching node

2. # Telephone exchange

3. ® Switching centre

4. ¥ Telephone cable

Question Number : 131 Question Id : 9767559348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faws &1 Tg A

Options :

1. % RGFRT A1 (Switching node)

2. % CAIIH URITS (Telephone exchange)
3. # XGfdT Yex (Switching centre)

4. ¢ TUDIF BHad (Telephone cable)

Question Number : 132 Question Id : 9767559349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A network with point-to-point links among all the entities is known as the:
Options :

1. # half connected network

2. ¥ fully connected network

3. % alternative network

4. # crystal network



Question Number : 132 Question Id : 9767559349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gt TR (entities) P S Ulge-g-urse i ol Aead &t Ca SIS
Options :

1. # 3G IS Aead (half connected network)

2. q:Uf TGO Aead (fully connected network)

3. % ISP Acad (alternative network)

4. % fohed Aedd (crystal network)

Question Number : 133 Question Id : 9767559350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct full form of SOA switches?
Options :

1. # Synchronised Oriented Amplifier

2. # Sub-optical Amplifier

3. ¥ Semi-conductor Optical Amplifier

4. ® Synthesis Optical Amplification

Question Number : 133 Question Id : 9767559350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ o1 1 soa o &1 98 guf ®u g2

Options :

1. # m m THTTHIR (Synchronised Oriented Amplifier)
2. % Yd-3Phd TUATBRR (Sub-optical Amplifier)

3. ¢ Y- HeaeR JHMVHA THTHRR (Semi-conductor Optical Amplifier)
4. % ARG siifowa QT@WF‘T (Synthesis Optical Amplification)



Question Number : 134 Question Id : 9767559351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the heart of a transmitter?
Options :

1. # Current source

2. # Voltage source

3. % Light source

4. % Alternative sine wave source

Question Number : 134 Question Id : 9767559351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & ¥ &1 91 gieier &1 834 (89) /2

Options :

1. % YRTHT (Current source)

2. % giees Aid (Voltage source)

3. ¢ dgc I (Light source)

4. % JATad! o1 I Iid (Alternative sine wave source)

Question Number : 135 Question Id : 9767559352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the receiver end, a/an converts the light back into an electrical signal.
Options :

1. ¥ optical detector

2. ® optical fiber

3. % optical cable

4. % transmitter

Question Number : 135 Question Id : 9767559352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

RAlaR s (receiverend) UX,  fIgcC Col| i&qu ﬁﬂaﬁtrhaﬁ?rm%’l
Options :

1. ¢ 3HPHd fecaex (optical detector)

2. % 3IfPHd BISER (optical fiber)

3. % 3ffPHA Had (optical cable)

4. % TIOHICR (transmitter)

Question Number : 136 Question Id : 9767559353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A speaker can convert the signal into acoustic waves.
Options :

1. # digital electrical

2. ¥ analog electrical

3. % discreet electrical

4. ® pulse electrical

Question Number : 136 Question Id : 9767559353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR, 1t 1 e T # uRafdd R b 5|
Options :

1. % f&fSred [dggd (Digital electrical)

2. ¢ TATAN] fdqgd (analog electrical)

3. % f&%hic faqgd (discreet electrical)

4. % U faggd (pulse electrical)

Question Number : 137 Question Id : 9767559354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a key component of an optical receiver?
Options :

1. % Transducer

2. % Photodetector

3. ¥ Modem

4. % Medium

Question Number : 137 Question Id : 9767559354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o 9 o 1 sHifivsd REaR &1 Ugd ues 82
Options :

1. % TRSYIX (Transducer)

2. ¥ Blelfgcaey (Photodetector)

3. % AleH (Modem)

4. ® HIfSTH (Medium)

Question Number : 138 Question Id : 9767559355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a component of optical fiber?
Options :

1. # Core

2. # (Cladding

3. % Coating or buffer

4. ¥ Twisting pair

Question Number : 138 Question Id : 9767559355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o 9 o 1 HTPHd BIgeR HT Ueh gl g2

Options :




1. % R (Core)

2. % AT (Cladding)

3. % BT THR (Coating or buffer)
4. E@_’T TR (Twisting pair)

Question Number : 139 Question Id : 9767559356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mathematically, the energy E of photon is related to the frequency of the emitted light as:

Options :
l.* E=h+v
2. % E=h-v
3. E=hyv
4, ¥ E=h/v

Question Number : 139 Question Id : 9767559356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR U 9, Bl & SHoll E, Iafoid JoT= $i g v J fog UeR dafdd gkt 82

Options :
l.¥* E=h+v
2. % E=h-v
3. E=hy
4. ¥ E=h/v

Question Number : 140 Question Id : 9767559357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Numerical aperture measures the power of the optical fiber from a source.
Options :

1. % light scattering



2. % light dispersion
3. ¢ light gathering
4. # light reflection

Question Number : 140 Question Id : 9767559357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THATHD Qler{ (Numerical aperture)@ﬁﬁa‘ﬁz@wtﬁlwaﬁ &ITI?ITEI’?I'J:ITCI?IT%I
Options :

1. ® BT YHIvH (light scattering)

2. % TehTRI UREUTT (light dispersion)

3. ¢ TP TUT (light gathering)

4. ® YHT WRIaa- (Light reflection)
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Question Number : 141 Question Id : 9767559358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following testing components has been INCORRECTLY matched with its function?
Options :

1. % Meter, bottom scale -indicates coil condition

2. ¥ Battery control -calibrating control

3. # Condenser selector switch — three-position switch for testing condensers

4. ® Test selector switch — five-position switch to select individual tests

Question Number : 141 Question Id : 9767559358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o Q I 1 TRer Fedh 30 BT & 1Y e akieb | W @I 82
Options :

1. % Hiex, dicH Whd - Bisd P (UG ewfdr g

2. ¢ I Held -BiasieT berd

3. % HouR Jade Rad — HeaR WUl & forw B’y o=
4. % % AageR 9T — AfFTd URIeon &1 7= HA & ol Uig-3d:y g

Question Number : 142 Question Id : 9767559359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is the function of a coil set control component?
Options :

1. # [s a three-position switch for testing condition

2. % s a four-position switch to proper input voltage

3. # Is a five-position switch to individual tests

4. ¥ Calibrating control

Question Number : 142 Question Id : 9767559359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EER kTl WVIET’[ e i ges (coil set control component) T Eap] %‘?
Options :

1. % TR0&01 &1 fRUMT (testing condition) & g B-waia e g

2. % IfId Y dieeol & forg IR-Rg faa @

3. % SHfdiTd yiefun & forg ufe-wid R g

4. BT ﬁ/\ﬁ (Calibrating control)

Question Number : 143 Question Id : 9767559360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following components has a 9 feet long, two conductor, AWG No 18 (Minimum) copper conductor with heavy rubber
insulation function?

Options :

1. ¥ Test leads

2. # Battery leads

3. % Battery selector switch
4. % Battery selector

Question Number : 143 Question Id : 9767559360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 T T fog gew o 9 e ddl, 3l Fsaex, HRY TR YA UHT aTdl AWG 18 (JAaH) dlaT Hadex gidl 82




Options :

|. ¢ CX TS (Test leads)

2. % Jed s (Battery leads)

3. % gt e fgg (Battery selector switch)
4. % g} JoacR (Battery selector)

Question Number : 144 Question Id : 9767559361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods is used to test the inductor?
Options :

1. ¢ Resistance check to test for continuity

2. % Using voltmeter

3. % Direct power supply

4. ¥ Component color coding and resistance measuring with an ohmmeter

Question Number : 144 Question Id : 9767559361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 & § foog fafd &1 ST IR (Inductor) T U0 B & forg fopa e g2
Options :

1. ¢ FRORA1 8 URTer0T & g ufeRieesdl &1 sird

2. % JlecHICR SUANT BT

3. % gyg fagga smyfd
4. % NAHICI P 1Y U T HIST 3R UfaRIe AT

Question Number : 145 Question Id : 9767559362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The nature of fault can be classified into two types. One is logical fault and the other one is:
Options :



1. # Logical fault

2. # Geometrical fault
3. % Arithmetical fault
4. ¥ Non-logical fault

Question Number : 145 Question Id : 9767559362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QY (fault) BT UPIA BT &l GPRI H TP BT S Gebdl ¢ | U Aloiehd QI (logical fault) & 3R GERT &l
Options :

1. ® QMNP d QY (logical fault)

2. % fSIMAf¢Hd G (Geometrical fault)

3. % URYARRHA QY (Arithmetical fault)

4. ¢ FAF-AINed aY (Non-logical fault)

Question Number : 146 Question Id : 9767559363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fault causes the logic value at the point in the circuit to become opposite to the specified value.
Options :

1. # non-logical

2. % Jogical

3. # geometrical

4. ® graphical

Question Number : 146 Question Id : 9767559363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aIy Hfhe # foig W dffordrd AF &I Ay 71 & fau’id 9799 &1 SR Sar g |

Options :
1. % FH-AIMHd (non-logical)




2. ¢ QD (logical)
3. % W@W(geometﬁcal)
4. % YIfehd (graphical)

Question Number : 147 Question Id : 9767559364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct caution during circuit testing.

Options :

1. ¢ Before using an ohmmeter, check the current that passes for each range upto 1 Ma.
2. ® During testing, we should turn on/off the voltage supply.

3. # During servicing or maintenance voltage supply should range from 150 to 200 volts

4. % We should not use the ohmmeter for any testing purpose.

Question Number : 147 Question Id : 9767559364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfdhe gdieror & SR I AU &1 99+ B

Options :

1. ¢ 3N BT ITART H T U, I URT &1 Sfid B3, S | Ma dF DI TAD 3ol b folE ToRdT g |
2. % TRI&UI & SR, B diee 3MMYfd &1 ATeyag ST 1T |

3. % QIARAT a1 A (W) & GRM dlees BT 3MYfd 150 I 200 dlee dP BT 1LY

4. % gH fopdt 1Y Udterur Ie=a o T Sfieie’ &1 SUART Hal 1 A1

Question Number : 148 Question Id : 9767559365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a PCB board is broken then:

Options :

1. ¢ It is much better to replace the entire board rather than to repair it

2. % the board should be repaired completely



3. ® It is not helpful to throw the entire board rather than to repair it
4. # only the edges should be repaired

Question Number : 148 Question Id : 9767559365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OId s PCB &S & oIl g, af |
Options :

1. ¢ I TR B & IOl R S P! dd ol I8k gidl §
2. % 918 &I I IRE ¥ HHd HAT ATy

3. % TR B SO R 9IS &I B SUINT T8l gl &

4. % Had fH-IRI &I AR DI 8! A6y

Question Number : 149 Question Id : 9767559366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should be the first step while servicing the transistors?

Options :

1. # Visually inspect the connections.

2. ¥ Check the power supply to see that its output voltage are present and of the correct values.
3. # Check with the leakage current

4. ® Find the loose wire or faulty connection.

Question Number : 149 Question Id : 9767559366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CifoReR o FRI o YUY Ugdl Had 1 gIHT AlfgW?
Options :

1. % ERd Y J HARM BT e
2. ¢ U8 W@ & foru faggd omyfd &t S &3 fb 39aT 3M13eye diees Hivig § 3R Iferd AF &1 3
3. % &RUT 4RI &b 1Y ofid




4. % Gl IR 7 QY HHRM geT|

Question Number : 150 Question Id : 9767559367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the correct value of voltage range for power supply in transistor troubleshooting?

Options :

1. ¥ 50V-100V
2.4V -12V
3.$0V-5V

4. % 10V-50V

Question Number : 150 Question Id : 9767559367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & @ o1 a1 giforex caagyfen & fagga smyfc & forg et ¥ 1 Iferd 1 82
Options :

1. % 50V-100V

2.4V -12V

3.$0V-5V

4. % 10V-50V

Question Number : 151 Question Id : 9767559368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct caution that must be exercised during the board servicing,

before attempting to remove the defective IC.
Options :

1. % The board should be placed in the holding jig.

2. # The board should be washed with distilled water.



3. ® The power supply of the board should be ON.
4. % All resisters should be removed from the board.

Question Number : 151 Question Id : 9767559368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 I WU &1 781 B3, o Sgul ¢ BT BT J Ugd, 918 & TR & SR sRa- &I oiexd gkl ¢ |
Options :

1. ¢ oS, gifceT forT & i1 g1 =g

2. % 9IS &I 3d oA § YT AR T

3. % §IS 3! faggd Smyfd a1 gt areu|

4. % Jft gfeRiell &1 918 9 FepTa <1 AnfeT|

Question Number : 152 Question Id : 9767559369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the techniques used during servicing of a transistor?
Options :

1. ® Power supply check

2. ® Visual inspection

3. ® Transistor check

4. ¥ Frequency modulation check

Question Number : 152 Question Id : 9767559369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & § o1 Tt Tiforex ot IR & SR IUTI &1 A aTell T ddb-1d ol 82
Options :

1. % fdggd \3‘|TE[ﬁ ST (Power supply check)

2. % EiPP V&I (Visual inspection)

3. % QifSReX ST (Transistor check)




4. &ﬂq% 1:|V|§F|'_‘| =T (Frequency modulation check)

Question Number : 153 Question Id : 9767559370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of precautions that is observed habitually for boards of modular assembly?
Options :

1. # Be extremely careful at all times while handling a board.

2. % Do not flex the board indiscriminately.

3. ¥ Be partially attentive when removing the board or replacing a part.

4. ® Do not force anything associated with the board.

Question Number : 153 Question Id : 9767559370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ o1 I 98 U rauT Tal €, Sl Areger Sidd & I8! b oIt WHTaa: /daiichd sl &7
Options :

1. % 918 F YU P SRM 83 JHY 98¢ Yray 3|

2. % SIS B! SHfoaRYd® T Al |

3. ¢ SIS &I FAmTIem o1 fardl! U &l Sqaq & gRIM HifI® U ¥ ¥dd I3 |

4. % S Y Gafdd fopdt +ft 9t 1 7 gamg|

Question Number : 154 Question Id : 9767559371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When we are soldering to discrete components repeatedly, the PCB will:
Options :

1. ¥ not be damaged

2. ¥ be damaged

3. # get more strength simultaneously.

4. % weak gradually.



Question Number : 154 Question Id : 9767559371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SId §H IR-aR fafded gew! &I HicsR #1d ©, A PCB
Options :

1. % effcrrd gt grm

2. &I BT

3. ® Ueh 1Y 3Hf¥eh drebd At

4. % HU: HHSIR BRI

Question Number : 155 Question Id : 9767559372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following forms one of the fundamental building blocks of an electric power system?
Options :

1. # Rectifier

2. % Amplifier

3. # Diode

4. % Transformer

Question Number : 155 Question Id : 9767559372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o T 1 1 faggd S Yol o1 T gayd i sdie 1fed &l 82
Options :

1. % fapaRt (Rectifier)

2. % yade (Amplifier)

3. % SIS (Diode)

4. & E:m'q?—lth (Transformer)




Question Number : 156 Question Id : 9767559373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of single phase transformer, based on its construction?
Options :

1. # Core type

2. ¥ Cladding type

3. # Shell type

4. % Berry type

Question Number : 156 Question Id : 9767559373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & @ o1 31 A fAafor & YR R tehd el TRBIR &1 SR T8l 82
Options :

1. % HR ™Y (Core type)

2. ¢ TATST 13U (Cladding type)

3. % Td 1Y (Shell type)

4. % 93y (Berry type)

Question Number : 157 Question Id : 9767559374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements about core of transformers is INCORRECT?
Options :

1. % Core steel can be hot- or cold-rolled in the transformer.

2. % Tt can be grain-oriented or non-grain-oriented.

3. % Tts thickness range varies from 0.23 mm to 0.36 mm.

4. % Tt has no losses.

Question Number : 157 Question Id : 9767559374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

CIIBIR & ®HR & dR H 9 T ¥ S 1 HYF 7Tad g2
Options :

1. % BRI, TIHIER H TH- T1 3S1-3eS 8l Tl g
2. % gg 0] SHfa=Ra a1 TRIY) SifNfa=ad 8 g ]
3. % 3YPBI AT 0.23 mm T 0.36 mm TP BT B

4. ¥ TUD B B T8l B

Question Number : 158 Question Id : 9767559375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The coil in which electrical energy is fed with the help of source is called:
Options :

1. ¥ primary winding

2. # secondary winding

3. % coupling

4. % induction coil

Question Number : 158 Question Id : 9767559375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 Pi3d foraH faegd Soil 9 &) GeTadT A s (fed) AT, 3 HET AT
Options :

1. ¢ U1l argfET (primary winding)

2. % TG arsfET (secondary winding)

3. % U (coupling)

4. % URUT HISd (induction coil)

Question Number : 159 Question Id : 9767559376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A transformer works on the principle of:
Options :

1. # reactive induction

2. % mutual induction

3. # inductive induction

4. # capacitive induction

Question Number : 159 Question Id : 9767559376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TOBIER, Rgid W er 12

A

Options :

1. % gfadrdl IRoT (reactive induction)

2. ¢ 3 ORI (mutual induction)

3. % TRIOIG ORI (inductive induction)

4. % Hofyfeg o (capacitive induction)

Question Number : 160 Question Id : 9767559377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the transistor circuits are operated by the class of small signal, the transistor can be modelled as  two-port network.
Options :

1. ¥ quadrilateral

2. ® circular

3. % sinusoidal

4. ¥ linear

Question Number : 160 Question Id : 9767559377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Tiforer uiuy BT REd & aif gRI YaTford 8id §, i cifoReR &1 G1-UIE Acad & ¥4 § Aisd (bl o Ydhdl g |

Options :




1. # aﬂ'{lﬁﬂ'q (quadrilateral)
2. % fﬁﬂ'q(circular)

3. % W(sinusoidal)
4. ¢ W(linear)
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The ac characteristics of a transistor are described in the data sheet in terms of characteristic curves of parameters, which are commonly
known as hybrid parameters.

Options :
1. %2
2.%3
3. 4
4. %5

Question Number : 161 Question Id : 9767559378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for gt TifoTeeR 1 T (ac) TIRISATY Ser <iie | AIUES Tl Sifiaeities aw! & daa § aftld gl &, fore ammia: ssfos
ATUcS gl Sl g |

Options :

1. %2

2.% 3

3.4

4. %5

Question Number : 162 Question Id : 9767559379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

h-parameters of a transistor  when the temperature and the operating point of the transistor change.
Options :

1. * do not change

2. ¥ also change

3. * may or may not change

4. * remain the same

Question Number : 162 Question Id : 9767559379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fopaft TifoRer & h-IRTHteR , 519 ifoRex &1 dT9dM 3R Yara fog seaar g
Options :

1. * gl e &

2. ¢ i ggad g

3. % §EA UHd ¢ 1 e 9o d Thd §

4. % JAFIEA §

Question Number : 163 Question Id : 9767559380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which h-parameters are dimensionless?
Options :

Question Number : 163 Question Id : 9767559380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T h-TRTHeR ICLIRE (dimensionless) @Fﬂ %‘?
Options :

1. % hy; 3R hyy

2. ¢ hyy R hy;

3. % hy; 3R hyy

4. % hy; 3R hyy

Question Number : 164 Question Id : 9767559381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is widely used for demodulating the amplitude modulated (AM) signal in the radio receivers.
Options :

1. # peak detector

2. # peak-to-peak detector

3. % clamped detector

4. ¥ envelope detector

Question Number : 164 Question Id : 9767559381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HT AUSH ¥ § IuanT Sfsa REiaR # maH Wﬁ‘ﬂ:{ (Amplitude modulation) (AM) EPEED %ﬁ@ﬁ? (demodulating)
B P foTg fpar ST |
Options :
1. % Ui® focaex (peak detector)
2. % L4Inlcb—§— Ui fgcae (peak-to-peak detector)
3. # gais fecaer (clamped detector)
4.« TaY 8 R Tend (envelope detector)

Question Number : 165 Question Id : 9767559382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The random fluctuations produced by thermal agitation of the electrons are called:
Options :

1. % Partition noise

2. % White noise

3. ¢ Johnson noise

4. % Shot noise

Question Number : 165 Question Id : 9767559382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

sﬁag‘l’:ﬁ & dTdg gy (th%ermal agitation) gRT fAfifa siafia JdR-deld (fluctuations) Gl
RS IGIN

Options :

1. % fqUTS TG (Partition noise)
2. % 9d Y9 (White noise)

3. ¢ S99 3d (Johnson noise)
4. % e G (Shot noise)

Question Number : 166 Question Id : 9767559383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘By pulsing the radar on and off, it is possible to use the same antenna for both, transmission and reception’.

This statement is correct for which of the following radars?
Options :

1. # Bistatic radar

2. ¥ Monostatic radar

3. # Dipole radar

4. % Monopole radar

Question Number : 166 Question Id : 9767559383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR B! A1 3R g Hp, TR 3R RIRM I & o1 U g1 TCH1 &1 ST IHa ¢
g By g & I e TSR & frw et 89

Options :

1. % fgIRUAH TSR (Bistatic radar)

2. ¢ THIRYIDH ISR (Monostatic radar)

3. % fgg[di Y8R (Dipole radar)

4. % Thgdl TSR (Monopole radar)



Question Number : 167 Question Id : 9767559384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sextant is used to:

Options :

1. ¥ measure the angular distance between two visible objects
2. ® measure the time to reach visible objects

3. # measure the speed required to reach prior visible object

4. ® Distance measurement

Question Number : 167 Question Id : 9767559384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jagec BT JUART |

Options :

1. ¢ 3 TXgHM a¥gei & dE P o &) 79 3 ferg g g

2. % TXGAM gl d% Uga- o 99T &1 AU & fore grar @

3. % Ud UM a%] I Ugd g AT T &Y A0 & e gl 8
4. % X AOE & U BT 8

Question Number : 168 Question Id : 9767559385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of GPS?

Options :

1. #® Global Passing System

2. % Global Projecting System

3. % Global Processing System

4. ¥ Global Positioning System

Question Number : 168 Question Id : 9767559385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

GPS &1 JU1 U 37 82

Options :

1. % TAISd UTRIT RI%EH (Global Passing System)

2. % A Uoifae T RIREH (Global Projecting System)

3. % AT TR Rieeq (Global Processing System)

4. ¢ TSd USRI RRI%€H (Global Positioning System)

Question Number : 169 Question Id : 9767559386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct for class B mode of operation of GPRS MS?

Options :

1. ® MS is attached to both GPRS and other GSM services and the user can use them simultaneously to make or receive calls.
2. % MS can only be attached to either the GSM network or the GPRS network.

3. % MS is attached to both GPRS and other GSM services, but can only operate one set of services at a time.

4. % MS can only be attached to either CDMA/WCDMA network

Question Number : 169 Question Id : 9767559386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% & ¥ B I YT GPRS MS THTTH & aif B Al & forg Tl 82

Options :

1. % MS, GPRS 3fR 3= GSM HdT g1 ¥ J3T §31T § 3R STARTEH! Hid B a7 UT B o (oY I8 Th 1Y ST &R Thdl & |
2. % MS, $Had AT dl GSM "cdd I1dl GPRS Aedd J ST g3 &l Hhdl g |

3. ¥ MS, GPRS 3R 3= GSM JdT I ¥ ST g3 81l &, -1 Udh THT H Had U Jc yarsfi &1 JaTa HR qehdl |

4. % MS, Had CDMA/WCDMA cad I 3T 81 Tdhdl §

Question Number : 170 Question Id : 9767559387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the correct mode of operations for GPRS.
Options :

1. # circuit switched mode of operation

2. ¥ packet switched mode of operation

3. # common switched mode of operation

4. % partial switched mode of operation

Question Number : 170 Question Id : 9767559387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GPRS & oTT UaTeH o Tal Al &1 ag- B |
Options :

1. % DA &1 Uidhe s Al

2. ¢ T o1 Uhe s 1S

3. % YTeH Bl H1A- [g<s His

4. % YTcH P13 s A

Question Number : 171 Question Id : 9767559388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GPRS system is used by:

Options :

1. ¥ CDMA

2. ¥ GSM

3. # remote sensors

4. % SDMA

Question Number : 171 Question Id : 9767559388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GPRS RieH &1 IudnT GRIGI |



Options :

1. ¥ CDMA

2. % GSM

3. % RHle 4w

4. % SDMA

Question Number : 172 Question Id : 9767559389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the correct ‘class’ of GPRS handset mode of operation, where you can be taking a call and receiving data all at the same time?
Options :

1. ¥ Class A

2. % Class B

3. % Class C

4. % Class D

Question Number : 172 Question Id : 9767559389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T=ITE (operation) b GPRS 88C HIS BT gt "I DI IT 8, ST 31U Ueb 1Y DIl 3R ST YT R Fobd 82
Options :

. T A
2. % g B
3. % q@fC
4. % @D

Question Number : 173 Question Id : 9767559390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A smallest GPS unit can be fitted in:
Options :



1. #® four wheelers
2. % aeroplanes
3. # ships

4. ¥ human wrists

Question Number : 173 Question Id : 9767559390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H B GPS g TS S Yha g |

Options :

1. % IR gfgan arg-i
2. % EaTs S

3. % Ud

4. ¢ UHd HaTs

Question Number : 174 Question Id : 9767559391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is INCORRECT with respect to the model of transmission line?

Options :

1. ® The line is uniform, homogeneous and straight.

2. ® The line parameters are not frequency-dependent.

3. # The line parameters R, L, G and C do not vary with change I ambient condition, such as temperature and humidity.

4. ¥ The line does not experience attenuation losses.

Question Number : 174 Question Id : 9767559391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & ¥ B 1 Y AR e & disd & JoY H TTeld 7
Options :

|, ® ST UhTHM, THRY 3R Aeh gic g




2. % AR & WHER -k TR g B
3. % WRTBR, L, G 3R C W, dYaM 3R 3irear o gRad= 1 gkagh fRufd & ary ufkafdd et g g1
4. ¢ A H efu g1 718t gt B

Question Number : 175 Question Id : 9767559392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The four-wire transmission line have:

Options :

1. ¥ two wires for transmit path and two wires for receive path
2. # one wire for transmit path and three wires for receive path
3. # all wires only for transmit path

4. % half-duplex path

Question Number : 175 Question Id : 9767559392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR-AR IR arg— d |

Options :

1. #g‘mﬁzw%ﬁ«maﬁaﬁ ﬁ?ﬁﬁaqq(receivepath)$mawm%

2. ® WUH$WWWGﬁTWUU(receivepath)ém?‘ﬁ:{aﬁaﬁ%
3. % gt aR Fad cIAc Yy & A gid €

4. % BIH-SWIH Uy

Question Number : 176 Question Id : 9767559393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a correct type of transmission?
Options :

1. ¥ 2 wires and 4 wires transmission

2. % 2 wires and 5 wires transmission



3. % 3 wires and 6 wires transmission

4. ® 4 wires and 7 wires transmission

Question Number : 176 Question Id : 9767559393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
18 & Y I 1 IR 1 I TR &
Options :

1. ¥ 2 dR 3R 4 IR <AfRE

2. % 2 dR 3R 5 IR rafieE

3. % 3 TR 3R 6 IR TAHRHA

4. % 4R 3R 7 IR AR

Question Number : 177 Question Id : 9767559394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an essential cause of crosstalk?
Options :

1. ® Electrical coupling between transmission media

2. % Poor control of frequency resonance

3. # Non-linear performance in analog multiplex system.

4. ¥ Signal-to-noise ratio is maximum.

Question Number : 177 Question Id : 9767559394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & q B T BIEID (crosstalk) BT MTIID HRUT g 82
Options :

1. % iR Hifsan & o faggd g/ (Electrical coupling)
2. % 3Igft Ufdeafy ol WRIe =
3. % TN HeeTwiad Rited H eRfge e



4. ¢ Ryl g-1ssl 3T 3 gl 8 |

Question Number : 178 Question Id : 9767559395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number to be dialed or called to reach a subscriber in the same local network or numbering area is called
Options :

1. # Telephone number

2. ¥ Subscriber number

3. % Mobile number

4. % Customer care number

Question Number : 178 Question Id : 9767559395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Aehd Hede a1 AT & H U8 b Ugd- & [Tl ST T ST aTell ek a1 Sid HEAI g |
Options :

1. % TAHIM R

2. ¢ TTPIIR TR

3. ® iarsd daR

4. % PICH PR &R

Question Number : 179 Question Id : 9767559396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a sequential circuit that has a specified sequence of states.
Options :
1. ¥ Counter
2. % Ripple
3. % Reader

4. % Storage element



Question Number : 179 Question Id : 9767559396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Ier T Tfdhe Brar 8, fraw I (states) BT FAEY SrIFH ST B
Options :
1. ¢ B3R (Counter)
2. % U (Ripple)
3. % ﬂ@T(Reader)
4. ® Eﬁﬁ@ﬁ“lﬂ? (Storage element)

Question Number : 180 Question Id : 9767559397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The binary number 10011 is equal to the decimal number:
Options :

1.4 19

2.% 12

3. %27

4, % 21

Question Number : 180 Question Id : 9767559397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISR BT 10011, SHHS HBAT b IR 3|
Options :

1.4 19

2. % 12

3. %27

4, % 21
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Question Number : 181 Question Id : 9767559398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The inverter is a/an

Options :

1. ¥ NOT gate

2. % AND gate



3. % OR gate
4. ¥ NAND gate

Question Number : 181 Question Id : 9767559398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR, gl

Options :

1. ¥ NOTI¢

2. % ANDTIC

3. % ORTIC

4. % NANDTIC

Question Number : 182 Question Id : 9767559399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The NAND gate is AND gate followed by:
Options :

1. ¥ NAND

2. ¥ NOT

3. ¥ NOR

4, % OR

Question Number : 182 Question Id : 9767559399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NAND Te, P §1¢ AND TE B
Options :

1. ¥ NAND

2. ¥ NOT

3. ¥ NOR



4. % OR

Question Number : 183 Question Id : 9767559400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The output signal of NAND gate is 0 when two input signals are:
Options :

1.%0

2.¥ 1

3. % either O or 1

4. % 0101

Question Number : 183 Question Id : 9767559400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NAND TI¢ %I 313eqe Rud 0 8Id1 §, 919 & §99¢ Riua g gl
Options :

1. %0

2.9 1

3.®gratoarTal 1

4. % 0101

Question Number : 184 Question Id : 9767559401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Boolean algebra, the addition symbol (+) is referred to as:
Options :

1. # AND operation

2. # NOT operation

3. % OR operation

4. ¥ NAND operation



Question Number : 184 Question Id : 9767559401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seitg SN #, S Udie (+) B =0 § Geiid fear srar g
Options :

1. % AND 3{ORRH

2. % NOT 3{TURRM

3. ¢ OR 3{TIRTH

4. % NAND 3{T0RRM

Question Number : 185 Question Id : 9767559402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a device which helps convert BCD to seven segments.
Options :
1. % Multiplexer
2. ®% Encoder
3. ¥ Display decoder
4. ® Uniplexer

Question Number : 185 Question Id : 9767559402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, 98 f$a139 8, Sl BCD &1 I1d Tt H uRafdd &1 H Aeg PRl g
Options :

], # W(Multiplexer)
2. % TIPSR (Encoder)

3. ¢ fed e (Display decoder)

4. % q\:ﬂw (Uniplexer)

Question Number : 186 Question Id : 9767559403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is also known as ‘data selector' in a digital system?
Options :

1. # Flip-flop

2. # Encoder

3. % Multiplexer

4. * Counter

Question Number : 186 Question Id : 9767559403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o o 9 frd fefoed Rien & Se1 Taaey ft FeT omar 82
Options :

1. % fOTY-UITY (Flip-flop)

2. % W@’T(Encoder)

3. ¢ e IRR (Multiplexer)

4. ® PHT3cX (Counter)

Question Number : 187 Question Id : 9767559404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An LED works only in the __ condition(s).
Options :

1. ¥ forward bias

2. # reverse bias

3. * no bias

4. % reverse bias and forward bias

Question Number : 187 Question Id : 9767559404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



LED &dd fufa & sl sxar g
Options :

1. ¢ 37 ¥l (forward bias)

2. % UY AL (reverse bias)

3. % no bias

4. % Oy ST (reverse bias) 3R 31 AR (forward bias)

Question Number : 188 Question Id : 9767559405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LCD is based on:

Options :

1. # radiation of light

2. ¥ reflection of light

3. # emission of light

4. % transmission of light

Question Number : 188 Question Id : 9767559405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LCD, R TETRA I G|
Options :

1. % geprer fafebor

2. ¢ BT WRIGcH

3. % YHTRT IoH

4. % BT HTRUT

Question Number : 189 Question Id : 9767559406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A thyristor is a:



Options :

1. # three-layer, two-junction device

2. # three-layer, three-junction device
3. ¥ four-layer, three-junction device

4. ® two-layer, one-junction device

Question Number : 189 Question Id : 9767559406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT (thyristor), gl
Options :

1. % dF-WR, al-SiavH feargy
2. ® TH-IRG, dH-SioeH feargg
3. ¢ IR-TRN, dH-Sa fgarsy
4, % G-TRY, Th-oiaRH fearsy

Question Number : 190 Question Id : 9767559407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An oscillator is an electronic circuit that converts:
Options :

1. # AC power into DC power

2. ¥ DC power into AC power

3. ¥ Mechanical power into AC power

4. % Mechanical power into DC power

Question Number : 190 Question Id : 9767559407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aId® (oscillator) dg sﬁaejﬁw gy %, 5| o ufkafdd srar gl

Options :




1. ¥ AC UTaR &I DC UTaR
2. ¢ DC UTaR &I AC UTaR
3. % gifA® gfaR &I AC TTaR
4. % i UIaR B DC TTaR

Question Number : 191 Question Id : 9767559408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are used to produce infrared LEDs.

Options :

1. # GaPs

2. % GaAsPs

3. ¥ GaAs

4. % PbS

Question Number : 191 Question Id : 9767559408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 IUANT 3faRad LED FAfifd & fm giar 21
Options :
1. # GaPs
2. % GaAsPs
3. ¥ GaAs
4. % PbS

Question Number : 192 Question Id : 9767559409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An intrinsic semiconductor behaves as a perfect at absolute zero temperature.
Options :

1. #* semiconductor



2. % insulator
3. #* conductor

4. # protection device

Question Number : 192 Question Id : 9767559409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST S1ERITAD (intrinsic semiconductor), TRH YT ATHH TR TR P ¥U H IR HRAT g
Options :

1. % JefTa® (semiconductor)

2.¥ ﬁ?ﬁﬂﬁ%ﬁ (Insulator)

3. % d[dd (conductor)

4. % YicaRH fSargy (protection device)

Question Number : 193 Question Id : 9767559410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Small power can be transmitted from a satellite to Earth’s station on
Options :

1. % uplink

2. ¥ downlink

3. % terrestrial

4. % earthbound

Question Number : 193 Question Id : 9767559410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 TR &1 ITUE ¥ Y. ¥IH dd TR U foran ST Gl &
Options :

1. % 3{Ufeidh (uplink)

2. ¢/ STSAMID (downlink)




3. % éi’l%\\’rﬁf (terrestrial)
4. % IfErds (earthbound)

Question Number : 194 Question Id : 9767559411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A/An serves the purpose of collecting the extremely weak signal incident upon its surface area.
Options :

1. #* helical antenna

2. % LNA

3. ¢ satellite dish

4. % TWT

Question Number : 194 Question Id : 9767559411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, 30 g1 &5 R 3ifd gad RIud ge1 &l SHg o3 & I U BT dal |

Options :

1. % gfcred T (helical antenna)
2. % LNA
3.  Jodge {3 (satellite dish)

4. % TWT

Question Number : 195 Question Id : 9767559412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A/An is the transmitter-receiver combination in the satellite.
Options :

1. # repeater

2. % relay

3. % duplexer



4. ¥ transponder

Question Number : 195 Question Id : 9767559412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, 39E ¥ Trydier-RftaR TaeH gran g |

Options :
1. % Riex (repeater)
2. % a (relay)

3. % W(duplexer)
4. ¢ EA'IHC”@Q (transponder)

Question Number : 196 Question Id : 9767559413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following uses the technique of both, bandwidth and time sharing?
Options :

1. * QDMA

2. ¥ CDMA

3. ¥ TDMA

4. ¥ FDMA

Question Number : 196 Question Id : 9767559413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o o Q frad Ssfagy ik ergw Rl S do-ie &1 STTIT BiaT 82
Options :

1. ¥* QDMA

2. ¥ CDMA

3. ¥ TDMA

4. ¥ FDMA



Question Number : 197 Question Id : 9767559414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the classifications of transmission media in telecommunication?
Options :

1. # Echo

2. % Unbounded

3. % Guided

4. ¢ Crystal

Question Number : 197 Question Id : 9767559414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § ®F 91 QUAR A ThfiRE Hifear &1t aifeo T8l 82
Options :

1. % ZHI (Echo)

2. % 3FINESS (Unbounded)

3. % ME3S (Guided)

4. ¢ fopeed (Crystal)

Question Number : 198 Question Id : 9767559415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct range of bandwidth for the multimode step-index fiber.
Options :

1. # 1 to25 MHz km

2. % 10 to 30 MHz km

3. ¥ 6 to 50 MHz km

4. % 4to040 MHz km

Question Number : 198 Question Id : 9767559415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IS WU-ES BISeR & (oY SSfagy & Tal ¥l &1 T B |
Options :

1. % 1925 MHz km

2. % 109 30 MHz km

3. ¢ 69 50 MHz km

4. % 49 40 MHz km

Question Number : 199 Question Id : 9767559416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the fibers, the refractive index of the core varies gradually as a function of radial distance from the fiber centre.
Options :

1. # step index

2. ¥ graded index

3. # coaxial index

4. % axial index

Question Number : 199 Question Id : 9767559416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WIS B, PR BT SUIcHID BIeR e U ST g3t & B & =u | fR-iR aRafdd grar g
Options :
1. % XU ISl (step index)
2. ¥ USS Sl (graded index)
3. % DRI SSN (coaxial index)
4. % UIRTTA S8 (axial index)

Question Number : 200 Question Id : 9767559417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In contrast to the conventional analog SD-exchanges, the least expensive and least critical unit is called
Options :

1. ¢ the digital exchange switching network

2. # the digital transmission

3. # data link switching network

4. % digital reception exchange network

Question Number : 200 Question Id : 9767559417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H-AIAA TATANT SD-TFITS & DHeRe B, FAdH He 'l iR YAdH Agayul ShIs &1 FHel ol g

Options :

1. ¢ T fSfored uaues Rafd Aeas (the digital exchange switching network)
2. % g fSfored glﬂ'm:[ (the digital transmission)

3. % S fofeh fRafedT Aedd (data link switching network)

4. % f&fSred RawH Qd{-la.\rl Acdd (digital reception exchange network)




